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nuuwlwpglul
[unruLever [
Qpblwlul whinnyptibp, nwwqpulub
wupwipbbp U Wniplp, qnptp
30197622  |pnunp, A4 pnpdwwnh q< Ug 600,0 1000,0 600,0
30197646  |enwne’ A3 Snpdwwnh Q<L g 700,0 1,5 8,05
30197650  |pnine’ opubipwihu L Ug 700,0 2,0 1,4
30197647 pnine’ opubtipwh, 60g S la 900,0 43,0 38,7
30197648 pnine’ obubipwihu, 120q q< g 1 050,0 100,0 105,0
22991190 YuySwuwin pninp < g 1200,0 150,0 180,0
30197621 $lhwswnwh pnine q< lg 2 300,0 2,0 4,6
30192740 pnine gnitwdnp, A4 dlwswiph Q<L ug 1 400,0 1.5 21
30199400 unutdwwwunywd Jud Yusniu pnine 9< hwun 50,0 80,0 4,0
Sgogepey  [ITRMMUIAAGMD e, e, 700K a¢ huwtn 650,0 70,0 455
wnnnwiuh, uwhwnwl Eetipny
30192130 dwinpwnutip < hwn 50,0 300,0 15,0
30192100 nbwnhu hwuwpwly L hwwn 100,0 175,0 17,5
30192133 uphsubip Q< huwn 100,0 90,0 9,0
30192121 gnhs qunhluwynp Q<L huwin 100,0 570,0 57,0
30192121 gphs gunhywynp < hwtn 100,0 195,0 19,5
3019211 gphs qunhlywynp q< hwwn 100,0 375,0 37.5
30192128  |aphs qbquiht 9< hutn 200,0 290,0 58,0
30192128 gnhs gbpwihu Q<L hwin 200,0 70,0 14,0
30192128 |gnhy abjwhu q< hwtn 200,0 13,0 2,6
39263410  |wdpuwly, thnpp ac wintth 150,0 100,0 15,0
30263420  |wdpwl, Ukd < wnnu 250,0 2,0 0.5
30192125 dwpytnubp Q<L hun 120,0 120,0 14,4
30192125 dwpltipubip Q< huwtn 200,0 13,0 22,6
30192160  |pwiphjuttip < huwin 200,0 120,0 24,0
30199420 e Uznwiutiph hwdwp, unutdywdpny q< hwuwn 150,0 220,0 33,0
30199430  |pnine Uznwiutinh, tnpguljutipny a< hwn 700,0 90,0 63,0
30192710 unubdwdwinhwn, gpuubitywyuht QL hwn 250,0 4,0 1,0




30192710 unutdwiwnhun, gpuubijwlwht Q< hwn 300,0 150,0 45,0
24911200  |unuhta, Ednyuhw qc g 1300,0 57,0 74,1
30197231 pnRWWWUWY, wnhibpuwht punwle, S 9L huwn 10,0 3 800,0 38,0
39241210 dypwwn, gpuubtjulwjhu Q< hwin 300,0 30,0 9,0
39241210 dypwin, gpwubljwlwhu q< hww 450,0 2,0 09
30197112 Yuwphsh dhinwnwiwnt uuwbnp, dhoht qL wnith 120,0 160,0 19,2
30197100 Yuphsh dnwnwiwpb Yuwbp, d6s < wnnith 350,0 10,0 35
30197321 Yuwphs, dhusl 20 pipeh hwdwp < hwwn 550,0 10,0 25
30197340 wuwwlwnhg Q< hwtn 150,0 15,0 2.3
30197233 pnRWwwluwy, phny, prejw q< hwn 100,0 285,0 28,5
30197234 pnrwwwuwy, Ynaun Yugdng Q< hwn 700,0 70,0 49,0
22851200 prRrwwwuwlubn < hwwn 150,0 2,0 03
22851200 pnpwwwuwlubp Q< hwwn 800,0 20,0 16,0
30197232 erewwwuwy, wnwguljup, prRjw Q< hwwn 80,0 4 410,0 352,8
22851100 wpwawlwpubp < huwin 70,0 50,0 3.5
39241141 nwwl’ gpwubitjwljwhu q< hwn 120,0 30,0 3,6
39241141 nwwy' gpwubljwljwhu 9 hwun 150,0 15,0 2,3
30192230 ulyng’ bpYyynndwih unubidywd q< hwn 150,0 30,0 45
30192230  |ulny tpYynnuwlh unutdywd < huwn 300,0 20,0 6,0
30192231 ulng q< hwun 50,0 30,0 15
30192231 [ulyng qc hwtn 150,0 25,0 3,8
30192231  |ulyng q< huwtn 450,0 65,0 29,3
30192232 ulyny enRejw Q< hwn 400,0 16,0 6,4
39263510 utndwly, thnpp q< hwtn 15,0 300,0 4,5
39263530  |ubnuwl, utd q< huwtn 20,0 150,0 3,0
30192780 bowpwdwihy QL hwin 200,0 14,0 2,8
39292510 puwlnt, wwuwnhy Q< hwwn 120,0 10,0 1,2
30141200 hwoywuwpp, gpuubtjuljwjhu q< hwn 3000,0 21,0 63,0
39263100 gpuubiywluwiht |pwlwqd Q< hwwn 1600,0 12,0 19,2
30192131 dbfuwuhyuwlwl Yud upynn dwnhuntbp Q< huin 1500,0 3,0 4,5
30192131 Ubfuwupyuljwt Yud upynn dwinhunutp 9L hwn 200,0 15,0 3,0
30192131 | ubjuwthlwluwt Ywd upynn Sunhutbp ac huwin 200,0 18,0 3,6
30192135 gnwhuntr dpgnly, dwnhwnp hwdwp < winuwh 70,0 20,0 1.4
22811150  |unpwnbntip q< hwtn 1000,0 9,0 9,0
22811150 unpwwnbitnptip Q< hwn 2000,0 5,0 10,0
22811150 unpwnbwnpbp QL hwwn 250,0 60,0 15,0
30199792  |opwgnyghip QL huwtn 2 000,0 5,0 10,0
22811150 unpwwnbinpbip G hwin 2400,0 8,0 19,2
30199792 opuwgnygtin G hwin 800,0 1,0 8,8
30263320  |opwgnyg, wwwnh q< hwtn 1000,0 14,0 14,0
30195920 dwquhuwlwl gpuwnwiunwlubp <L hwn 20 000,0 2,0 40,0
39292120 qpunwfuinwlubiph dwpphgubip < hwwn 700,0 24,0 16,8
sofgsgy  |PPHHuARITD dupniio a< hutn 750,0 10 0,6
hwwpwdniubp Yud wwpwqubp
39831274 Eypwuh dwppdwt Uynyetin Q< hwwn 1000,0 1,0 1,0
30192127 qpswinnuthbp L huwn 600,0 9,0 5,4
30199238  |uwdwlh dpwp, A6 dlwswithh 9L hwwn 12,0 100,0 1.2
30199230  |uwdwlh dpwp, A5 Euwswihh Q< hwwn 25,0 100,0 2,5
30192154 |uhph (wgnighs pwpdhlutip QL hwn 2300,0 2,0 4,6
37821190 qOwgNUWWINGEU (Yuiw) < dbwnp 120,0 80,0 9,6




35821400 npnautip Q<L hwwn 7 000,0 10,0 70,0
30192320  |wuyhsutiph dwwwyBuubp q< huwtn 5200,0 4,0 20,8
30197511 unjwpwEninE 9 Ug 1100,0 300,0 330,0
22611400  [ubpltip inywgpwlywy dEptiuwubiph hwdwp 9< g 8 000,0 2,0 16,0
22611400 ubiplbip nwywgpulywu dkpktuwutiph hudwp qL ug 8 000,0 2,0 16,0
30192760  |pnuiyhtipy Q< pu 2.000,0 150,0 300,0
4o00fip0 | wanwlul uuinpiph duutip L 9< hwitn 50 000,0 1,0 50,0
wwpwqwubp
22451210 |nhuyniutp uu hwin 2700,0 1500,0 4050,0
22111120 gpwnwpwuh gppbip q< hwun 22 000,0 2,0 440
22111120 gpwrnwpwuh gppbp QL hwwn 15 000,0 2,0 30,0
30197622  |pnunp, A4 Snpdwinh 9< g 600,0 60,0 36,0
30192130 dwitnhunubip QL huwin 50,0 7,0 0,4
30199430 pnine Upnidutiph, tpgwljubinny q< hwn 700,0 4,0 2,8
30199420 pninp ugnuiutiph hwdwp, unubiddwdpny q< hwn 150,0 6,0 0,9
30192100 nbwinht hwuwpuly qC hwn 100,0 4,0 0,4
30192133 uphsutip < hwwn 100,0 3,0 0,3
30192121 gnhs qunhlwinp q< hwin 100,0 22,0 2,2
30192121 anhs qunhlywdnp 9L hwuwn 100,0 3,0 0,3
30192121 aphs qunhlwynp Q<L hwwn 100,0 6,0 0,6
30192128 anhs gbipwhu QL hwwn 200,0 25,0 5,0
30192128  |qnhs qlwiht q< hwin 200,0 12,0 2,4
39241141 nutwy’ gpwubjwlwihu QL hwwn 120,0 3,0 0,4
39241210 dypwin, gpwublywlwiht QL hwwn 300,0 2,0 0,6
30197322 uwphs, 20-50 phpeh hwdwp qL hwn 1500,0 2,0 3,0
30197323 Yuwphs, 50-hg wyblh phipph hwdwn q< hwn 6 500,0 1,0 6,5
30197112 Yuwphsh Ubnwnwwnpt Yuwbip, dhoht QL wntth 120,0 4,0 0,5
30197100 Yuphsh dwnwnwiwnb Yuwbn, d6& Q< wnnih 350,0 4,0 1,4
30192160 ounphfutbip QL huwtn 200,0 3,0 0.6
30192710 unuudwdwinhin, gpuubbjwlwihu < hwtn 300,0 2,0 0,6
30192131 Ubfuwtpywyw Ywd upynn dwinpuubp q< hwtn 200,0 5,0 1.0
30192135 gpwdhint dhenty, dwinhnh hwdwnp QL wintth 70,0 5,0 0.4
30197231 prRwwwlwy, wnihibpwht punwue, Huj| < hwwn 10,0 300,0 3,0
30192125 dwplbpubip Q< husn 120,0 3,0 0,4
22811150 unpwwnbinptip q< hwn 250,0 5,0 1,3
30192780  |kowpwdwupy 9< hwin 200,0 4,0 0.8
39263510 utindwl, thnpp Q<L hwn 15,0 48,0 0,7
39263520  |ubnuwly, dhght qc hwtn 15,0 48,0 0,7
39263530 ubndwy, ubd G hwwn 20,0 48,0 1,0
30192127 gpswinnithbip qc hwn 600,0 2,0 1,2
ssgonp | TuOneRpbph AR GARS ac hutn 2500,0 2,0 5,0
ubmuiuh Ypw nynn fupwluiwptp
22851200 pRWWwUwlubp q< hwun 800,0 2,0 1,6
30141200 huipywuwnp, gpuubljwlujht 9 hwwn 3000,0 1,0 3,0
30197622 pnune, A4 dnpdwinh QL Ug 600,0 50,0 30,0
30197622 pnine, A4 dnpdwinh q<L hwn 800,0 20,0 16,0
30199420  |enune Ugnwiubiph huwdwp, unutidywdpny 9< hwtn 1300,0 20,0 26,0
30192114 pwuwp, Yuhph pwpahlh hwdwn QL hwn 350,0 5,0 1,8




39265100 ytnhlubp b onwyubp < hwwn 780,0 10,0 7,8
30141200 hwgwuwnp, gpwubljwlwihu L hwin 3000,0 3,0 9,0
30192121 anhs qunhluynp Q< hwwn 120,0 50,0 6,0
30192130 dwwpwnubp q< hwwn 800,0 10,0 8,0
30192133 uphsutip g hwn 180,0 20,0 3,6
30192100 nbinh hwuwpuly q< hwwn 240,0 20,0 4,8
39292520 |pwunt’ nwulyniup Q<L hwn 290,0 10,0 2,9
30192125 dwnlbpubp q< hwn 320,0 10,0 32
30192125 dwplybipubip < hwtn 400,0 10,0 4,0
30197322 ywphs, 20-50 phineh hwdwp q< hwn 2720,0 5,0 13,6
30197112 Ywphsh Ubtnwnwwpb Ywwbp, dhehu q< wnntth 120,0 20,0 2,4
30197340 wwjwlwphg L hwun 150,0 5,0 0,8
39263410 wdpuwly, thnpp QL wnnith 150,0 10,0 1,5
39263510 ubmdwl, thnpp q< hwn 15,0 360,0 5,4
39263520  |ubnuwl, dhghu Q< hwwn 15,0 360,0 5,4
39263530  |ubnuwy, dbd Q< hun 20,0 360,0 7,2
39241210 dypwn, gpwubbjwlwhu qg huwin 500,0 10,0 5,0
3924114 nwuwl' gpwubtjwluht q< hwwn 400,0 10,0 4,0
30197333 nwlhs thnpp Q< hwn 1800,0 3,0 54
30197120 Ynaguiutin QL winith 180,0 10,0 1.8
39292120 gpuunwlunwlubiph dwpphgubp g hwtn 350,0 3,0 1,1
39292110 gpwwnwluwnwbubp QL hwin 20 000,0 2,0 40,0
R L it s i ac huin 2500,0 6,0 15,0

ubinwih Ynw npynn nuipwyuiuintip
30192160 auppfuutin q<g hwn 350,0 10,0 3.5
30197234 prRwWWwlwy, Ynawn Yugquny qg hwin 700,0 10,0 7,0
30197234 prRwwwlwy, Ynan Yuqdny Q< hwn 700,0 10,0 7,0
30192231 ulng QL huwin 100,0 30,0 3,0
30192710 unubdwdwnhwn, gpwubitjwluhu D hwwn 180,0 10,0 1,8
30197622 pnine, A4 $nplwnh QL 1T} 600.0 10,0 6,0
30197650  |pnine’ opubipuih Q< ug 650,0 5,0 33
30192121 gnhs qunhluwdnp Qg hwn 100,0 24,0 2,4
39263410 wdpuwy, thnpn q< wntth 150,0 15,0 23
30192130 dwwnhwnubp < hwwn 50,0 10,0 0,5
30192125 dwpytpubip 9< hwtn 120,0 5,0 0,6
30192100  |nbwhu hwuwpwl Q< hwin 100,0 3,0 0.3
30192133 uphsubip Q<L hwn 100,0 3,0 0,3
30197231 prpwwwuwl, wnhibpwjht pwnwue, Juy| q< hwin 10,0 300,0 3,0
30197234 enpwwwuwl, Ynzin Yugdny q< hwn 700,0 5,0 3.9
30192231 uljny q< hwwn 150,0 2,0 0,3
22811150 unpwwnbnpbn q< hwwn 250,0 20,0 5,0

7 664,6

Cudulupgzwift whlubhyu,

wjwhbuwnwiwubp
30211190 wdtwlwl hwdwlwnghsubp Q< hwn 286 000,0 1,0 286,0
30211200 nynipulihp hwdwlwpghsubip Q< hwwn 364 400,0 1,0 364,4
30211200  |rynipwbpp hwdwywpghsubip < hwn 400 000,0 1,0 400,0
30239100 wuwunbuwhwdwy dbpbuw Q< hwun 190 000,0 1,0 190,0
30239100 wwinbbuwhwidwl dbphuw Q< hwin 110 000,0 1,0 110,0




30239100  |wwwbhuwhwudwy dbpkuw QL huwtn 90 000,0 1,0 90,0
30239100  |wwwbkuwhwudwy dEptuw 9 huwn 90 000,0 1,0 90,0
30237490  |hwiwlwpgswiht dnuhwnnnp 74 hun 65 000,0 3 195,0
30239100 wwwnhuwhwudwy dEpbuw Q< hwn 190 000,0 1 190,0
30211190 wistwlwu hwdwlwpghsubp qL huwin 240 000,0 6 1440,0
30239100 wwunbbuwhwdwl Jepbuw 9L hwn 90 000,0 1 90,0
sy |kt Gl ac huwn 8 000,0 1,0 8.0
uwppuwinpnidubip
N s i e ac huwn 4.000,0 1,0 4,0
uwppwynpnuiutip
30211250 wotuwnwpwihts fujwu < hwwn 13 000,0 1,0 13,0
30234640 $itiz hhgnnnuzjniu, 16GB Q< hwwn 5000,0 6,0 30,0
— e L L 9< hwitn 42 000,0 2,0 84,0
uwipplip
ozssion | TUELLEsh g mil (RSN ac huwin 30 000,0 5,0 150,0
uwnpbip
sigasion | i biomrenLe hbaughiony 9< huwitn 15 000,0 30,0 450,0
uwippbip
anppgy  |PHERnL Khannnipukl 2UpIER ac hutn 18 000,0 15,0 270,0
(Ubpwghtnu, wknwnpnud)
31221230 dhwguiwit dwpnduutbin QL hwn 25 000,0 10,0 250,0
31221230 Uhwguwl dwinifutbp qC hwn 40 000,0 1,0 40,0
44163250 Uhwlyghs /ynublunp/ wdpwgunn uwpp QL hwin 20,0 1500,0 30,0
44163250 dhwlghs /ynubiljuinp/ wipwgunn uwpp Q< hwn 10,0 100,0 1,0
31651400 | dbynwhs dwwuwibubibin o< huwn 150,0 30,0 45
44511240 | wpguiitbin Qg hun 2 000,0 2,0 4,0
44163250 dhwlghs /Yynublunnp/ wdpwgunn uwnpp Qg hwtn 12 000,0 1,0 12,0
31681700 | pudwuwpwp wnuh ac hwtn 10 000,0 10,0 100,0
31681700 pwdwiwpwp nnug QL hwwn 5000,0 5,0 25,0
31221230 dhwglw dwiniutbp 9L hwuwn 1 000,0 20,0 20,0
31221230 dhwguwt twintulitin QL hwin 1500,0 10,0 15,0
30237460 hwtwlwngswiht unbmuwawntn q< hwn 2500,0 30,0 75,0
30237411 dyuhy, hwdwlyuwngswh, jwpny q< hwwn 2000,0 30,0 60,0
30237113 Yynubiljnnp (Ygnpnutn) < hwwn 5000 4,0 20,0
30121460 innubipuht pwpphglbip QL hwwn 2500,0 10,0 25,0
30121460 wnubipuwjhu pwpphgubin Q< hwun 2500,0 5,0 12,5
30121460 innubipwhtu pwpwphstibin q<c hwn 2500,0 20,0 50,0
30121460 inubipuhu pwpuphgubip Qc hwn 6 200,0 3.0 18,6
30121460 innutipwyht pwpuphgutin q< hwn 5 400,0 3,0 16,2
30121460 wnutipuwyhtt pwpphoubip Q< hwwn 2500,0 20,0 50,0
30121460 unubpwjhu pwpuiphgutip aL hwn 3000,0 5,0 15,0
30237200 hwiwywpghsubiph wwpwqubp Ve hwin 6 000,0 2,0 12,0
30237200 hwdwluwpghsubiph wwpwguwbp qc huwtn 900,0 20,0 18,0
30237200 hwiwywpghsubiph wwpwaguutp QL hwn 840,0 40,0 33,6
30237200 hwdwlwpghsubiph wwpwgwubp < hwn 840,0 40,0 336
30237200 hwiwlwnpghsutiph wwpwqwubp c hwn 1500,0 10,0 15,0
30237200 hwiiwlwpghsutinh wwpwgquubn Q< hwn 990,0 10,0 9,9
30237200 | hwiwywpghsubiph wwpwguwutip qc¢ hwtn 1200,0 5,0 6,0
30237200 hwiwlunghsubinh wwpwaqulibp Q< hwn 1800,0 2,0 36
30237200 hwdwlwpghsubinh wwpwaubbin Q< hwn 2600,0 10,0 26,0
30237200 hwiwlwpghsutiph wwpwguubip 9L huwn 1600,0 15,0 24,0
30237200 hwiwlwpghsubinh wwpwguiubin a< hwtn 5500,0 4,0 22,0




30237200 hwiwlwpghsubinh wwpwgwubp q< hwwn 1500,0 5,0 7.5
30192320 | tnwhsubiph dwwjuwblbp ac huwiwn 2000,0 10,0 20,0
30192320 unwhgubinh dwwwyEuttip Q< hwwn 1200,0 13,0 15,6
30192320 | tuyhsbph dwwwbutbp 9< huwn 4400,0 3,0 13,2
tnnuby (uabipwjpu
30121470 wnuyhsubiph/htnwyjwinbuwhwnn q< TTe1 5500,0 40,0 220,0
Ukpbuwubph hwdwp
uinub (wiqbipwjh
30121470 wnuyhsubiph/htinwuwwnatuwhwunn q<L g 5500,0 10,0 55,0
dhphuwubph hwdwp
innubip (wqbipuhu
30121470  |inuyhsutip/hbinwwuinébuwhwiunn Q< Ug 7 000,0 5,0 35,0
dbpbuwbph hwdwp
innubip (wabipwihu
30121470 unwhsubiph/hnwwwunGbuwhwunn q< ug 5500,0 3,0 16,5
dtphuwbph hwdwp
wnubip jwgbipwhu
30121470 unwghsutiph/hbinwwwunsbuwhwnn q< Ya 5600,0 5,0 28,0
Ubpbuwubiph hudwp
innubip (wabipwhu
30121470 tnwhsubiph/hbmwwunGbuwhwunn ag lg 7 800.,0 3,0 23,4
Ubipbtwutiph hwdwp
30237200 hwiwlwpghsubiph wwpwgubn g hwn 5000,0 10,0 50,0
30237200 hwdwlwnahsutph wwpwquwubp Q< hwun 3200,0 10,0 32,0
30237200 hwiwlwnpghsutinh wwpuwigqubp gL hun 3000,0 5,0 15,0
30237200 hwiwlwnghsubiph wwpwquubp QL hwin 3 400,0 2,0 6,8
30237200 hwdwywnghsubph wwpwgquubip q< hwn 1500,0 4,0 6,0
30237200 hwdwlwnghsutmh wwpwguttn < hwn 1500,0 2,0 3.0
30237200 hwdwywnahsubnh wwpwqubp QL hwuwn 2 000,0 2,0 4,0
30237200 hwdwlwpghsutnh wwpwguitbp q< huwwn 1300,0 1,0 153
30237200 hwiwlwpghsubiph wWwpwgubp QL hwn 500,0 1,0 0,5
30237200 hwdwlwnghsutiph wwpwguwubin q<L hwn 100,0 5,0 0,5
30237200 hwiwlwpghsubinh wwpwaquubin < huin 100,0 5,0 0,5
30237200 | hwdwlwpghsubinh wwpwquwbp Q< hwn 100,0 5,0 0,5
30237200 hwiwlwpghsubnh wwpuwguwubn QL hwtn 100,0 5,0 0,5
30237200 hwtwywpghsutiph wwpwguubin q<c hwwn 300,0 100,0 30,0
30237111 uunigiw dwpunlng Q< hwwn 25 000,0 10,0 250,0
30237130 hwiwlwpgswihtu pwpwtip < hwtn 2500,0 5,0 12,5
30237137 wnbuwpwpunbip QL hwwn 30 000,0 5,0 150,0
30237200 hwdwlwpghsutiph wwpwgubip QL hwn 2000,0 10,0 20,0
32421200 guigwjhu pwnunphsubip Q<L hwuwn 485 000,0 1,0 485,0
30236180 ‘(’:éi';”:;i‘i&‘hﬂg‘ﬂﬂ d‘;’“‘“”‘“" ac hun 28 000,0 1,0 28,0
30237137 inbuwpuwpntn < hwin 275 000,0 1,0 275,0
31721100 tlqupwdh[um‘uhumuwb uwipptip q< hwwn 1350 000,0 1,0 1350,0
30237200  |hwiwlwnpghsutinh wwnwgwbp q< hwn 5300,0 2,0 10,6
30121480  |inuwwwwntbUwhwunn uwppliph tnnubip Gc lg 7 950,0 5,0 39,8
30121500  |pwpwphglbip Qs hwn 40 000,0 1,0 40,0
30121480  ||nuwwwnbuwhwunn uwnptiph wnutin L Ug 7 950,0 3,0 23,9
30237200  |hwiwluwpghsubiph wwpwaqwbp QL hwin 3 450,0 2,0 6,9
30237200  |hwdwlwpghgubiph wwinuwgutp 94 hwwn 1600,0 2,0 3,2
30237200  |hwdwluwpghsutinh wwnwgwubp q< hwn 5300,0 2,0 10,6




30237490  |hwdwlwpqswihu Untpunnp Q< hwtn 220 000,0 1,0 220,0
30232110 |wgbipwiht wwhsubin qc hwwn 190 000,0 1,0 190,0
30211190 wudtwlwt hwdwlwnpghsubip q< hwuwn 240 000,0 3,0 720,0
30237132 wpwnwpht uwppbiph dhwgdwy ik (usb) Q< hwn 8 000,0 3,0 24,0
32551160 htnwfunuwht uwppbp Q<L hwn 13 000,0 1,0 13,0
30211280  |hwiwlunghs wipnngp dblynud Q< hwtn 380 000,0 1,0 380,0
sozmie |PEunntuwlaus wpngbunnt (cpu) (ol 9 hwin 415000,0 1,0 45,0
wpngbunpubip
30232110 [wabpwiht wwhsubip qg hwwn 148 000,0 1,0 148,0
30211190 wuduwlywt hwdwlwnpghgubp Q< hwwn 240 000,0 1,0 240,0
30239170 pwqUiw$niulghntw| uwnp' (wabipwjhu gL hwin 190 000,0 1,0 190,0
30237200 hwdwljwpghsutiph wwpwgwbp QL hwuwn 12 000,0 1,0 12,0
30211190 wbatwywy hwiwlwpghgubip Q<L husn 240 000,0 1,0 240,0
11 584,1
Stnbuwlwb wypwuptbp
18141100 wofuwinwupwhu dnungutip < qnyg 200,0 30,0 6,0
18141100 woluwwnwupwhu denungubip QL qnuo 220,0 300,0 66,0
18141100 wofuwnwupwiht GEnungutip Qg qnyg 230,0 240,0 60,0
18141100 woluwwnwupwihu Gnungubip qg qnyg 1500,0 2,0 3,0
18421140 dhjwugwdjw oguiwgnpddw &bnungubip qg qnyg 150,0 100,0 15,0
39812600 dwppnn, Jwdniyutip U thnghubip Q< hwun 450,0 3,0 1,4
gy |l anady uwhwiugnygh hudwp| g ¢ thunp 700,0 200,0 140,0
(fuunwtjnie)
24451141 wlunwhwhg hinny bjnuptip qg thwp 220,0 279,0 61,4
39831243 |jdwgph thnzh wynndwn QL s} 1000,0 15,0 15,0
39831242 {wgph thnoh dtinpny (Yuitiwint hwdwp QL Ug 700,0 42,5 29,8
39831100 dwgnn uynupkip QL (huwp 550,0 51,0 28,1
39831100 (wgnn unypbip ag (hwp 450,0 165,0 74,3
39831244  |ofiwn, linbuwljwl < uq 1100,0 5,0 55
39831245  |ofiwn, htinniy Q< (htnp 400,0 60,0 24,0
39812410 Lwhnyph thwjigdwu dhgng qg hwwn 700,0 73,0 51,1
39221490 uwntugutp q< hwun 3300,0 2,0 6,6
39221490  |uwniugubip < hwwn 250,0 70,0 17,5
39812100 huwwnwlh dwdhy q<L Ug 1400,0 2,0 28
39831273 hwwnwlh dwppduwt unipbp Q< {hunp 700,0 10,0 7,0
39531500 gnpgh Ywnnpubip QL u2 5000,0 9,7 48,6
39831283 hwunwyp Ywgdwl jwE <L hwn 300,0 78,0 23,4
39831283 hwuwwyh Yugdwl jwp q< hwn 400,0 170,0 68,0
20522330 dwpnnn Uunnpubin QL hwwn 500,0 263,0 131,5
39522250 thngnt hwyjwpdwl Yunpubip QL hwun 400,0 30,0 12,0
39811300  [hnunwqlidhy, onh < huin 500,0 50,0 25,0
33761100  |gniqwpwih peninp Q< hwn 130,0 620,0 80,6
33761100 gnigwpwuh pnine < hwtn 150,0 200,0 30,0
30513200  |pnpeb wuaknnghl, Bpliptpwn 9< huin 150,0 20,0 3.0
44511120 gnguhwyubip a< hwtn 2 000,0 10,0 20,0
18931170 Yywnnphg wuwjniuwlubip < hwun 100,0 200,0 20,0
19641000  |wnihtehibuwht wwpl, wnph huwdwp Q< hwtn 600,0 20,0 12,0
19641000  |wnihtphiblwght wwnl, wnph hwdwp 9< hwwn 800,0 20,0 16,0
19641000  |wnihtenitiuwht wwpy, wnph hudwp q<c hwtn 400,0 20,0 8,0




44611300 wnph Ynuwnbubiputip q< hwwn 90,0 100,0 9,0
19641000 wnipkehiuwht wwpl, wnph hwdwp q< hwn 70,0 500,0 35,0
19642100 wn(hkphiEuwht wj wpunuup q< hwuwn 20,0 100,0 2,0
19642100 wnhteh(Euwhu wi wpunwnpwup 9 huatn 30 000,0 4,0 120,0
n Buwhu punwu
19642200 :“mg‘:zi‘nnml’f;h; L f’l{[;l"l _ ac I 1200,0 40,0 48,0
19642000 wn(htphBuwhu wwpl, utiunwjh 9L hwun 1,0 500,0 0,5
39221410 wbubp S e hwn 900,0 253,0 2277
39221410 wibjutp < huin 500,0 200,0 100,0
39224331 nny| wwundwub QL hwwn 1000,0 4,0 4,0
39224331 nny| wwuwndwub q< hwwn 800,0 17,0 13,6
39224331 nny| wjwundwub q< hwwn 500,0 10,0 5,0
39224332  |nny|, ghujwwwn Q< hwwn 1500,0 20,0 30,0
39298300  |dwnlwdwuubp 9< hustn 1000,0 5.0 5,0
39298300  |dwnywiwuubp Q< hwin 700,0 5,0 35
19441200 upuptinhl Rl q<L g 1400,0 112,0 156,8
39224560 wynuihuwphpetn (pnigw) q< hwn 1100,0 20,0 22,0
39298910  |winUwdwnubip QL hwn 200 000,0 1,0 200,0
asga70 | 2ol wntpun i q< hwitn 100 000.0 3,0 300,0
gnigwinwfuwnwljutip
39224331 nny| wwundwub Q< hwwn 3100,0 2,0 6,2
33141118 |wuakinnghlutip q< huitn 700,0 3,0 2,1
33761400  |pnph wudbnnghlutip q< hwtn 200,0 10,0 2,0
24451141 wunwhwhg hnnly Wniptp Q< thuinp 350,0 5.0 1,8
39831245 ofwn, htinniy QL {hunp 400,0 5,0 2,0
38411200  |tpdwswihbp qc hustn 350,0 20,0 7.0
24451141 wiunwhwuhs htinniy ynyelbip Q< thunp 1600,0 10,0 16,0
24451141 whunwhwiuhg htinnty Uynwalbn < (hwp 1600,0 10,0 16,0
39831262 htinnily o6wnh pwpfuhg uwnp < hwwn 3000,0 2,0 6,0
33141129 nhdwy QL hwtn 45,0 250,0 1,3
33621641 E'I“":nl::?hi (wuwnhubuywnhl) b whsnwhwbhs |- o - huwtn 1050,0 600,0 630,0
39831277 ofiwnh wijtnniwwn nhuwbuutkpubn q< hwn 2 000,0 15,0 30,0
10441200  |uhuebinhy phi q< g 1400,0 800,0 1120,0
R v (wtanhubyunhl) U whinwhubhs | q ¢ huitn 1650,0 10,0 16,5
dhgongutip
39513200 pnpb wusknnghy, Gpyotpwn q< hwn 800,0 20,0 16,0
39713410 hwwwlp dwppiwy uwppbip QL hww 25 000,0 1,0 25,0
39221480  [qniquipuwih funquiiwilutp QL huwwn 1500,0 4,0 6,0
somasin [T AL Fioupaphn. Rl g, Q< huitn 5500,0 1,0 5.5
annny
39514400 enpt upphsubiph wwndwn nhuwbuubip QL hwn 15 000,0 2,0 30,0
saay  |PMTOMLATR L R m L < hun 13000,0 2,0 26,0
wnpwdwuubp
saciaap |PURIBbTRLL Wit < hwn 1900,0 9,0 17,
wnpwdwubp
30221420  |funquitiwlubip Q< huwtn 3500,0 1,0 3,5
39221490 uwntugutip QL hwuwn 430,0 10,0 43
39831100 [Ywgnn Ujniptp Q<L hunp 550,0 4,0 22
39831245  |ofuwn, htnnty Q< thunp 800,0 3,0 2,4
39522250 | thngnt hwiwpdwl Ynnpubp < hwn 750,0 2,0 1.5




4 400,8

Snpdhputip
39241130 niuhypuw) nwuwlyubp 94 huwin 500,0 6,0 3,0
39241130 niupybpuwy nwuwyubp Q< hwwn 100,0 50,0 5,0
44511170 thngfubip < huatn 2 000,0 3,0 6,0
44511390  |qnpdhpubiph pnuwlutip Qg hwun 800,0 10,0 8,0
eprion  [MRSMMRA Rt 9L huwn 4000,0 10,0 40,0
uwppwynpnwiutin
44511200 &binph unngulip Q< hwn 6 000,0 5,0 30,0
44511130 wygbgnpdwlw Lnwiuubip q< hwn 37000 20,0 74,0
14811300 hnynn uluwwnwhutp ac hwn 800,0 10,0 8,0
14811300 hnynn ulwywnwlubp qL hwtn 1400,0 30,0 42,0
44511290 Jwublwnwpawyutip QL huwn 5000,0 1,0 5,0
44511290 dwbblwrwp&wlubp < hwin 15 000,0 1,0 15,0
44511370 qnpdhpubinh hwywpwadniubip < hwin 24 000,0 1,0 24,0
44511230 nnp Qg hwun 7 000,0 1,0 7,0
267,0
Chtmpwpuljwl wwpwupbbp,
uwbhnwpuljwt whiuithiw, uwpptn
44163170 ntnputs funnnuuwy aL dtitnp 400,0 25,0 10,0
39515440 nuipnuwhwjwg 2Epunwywpwgnyn Q< u2 5000,0 36,4 181,8
24911500  |unuhud (wkpngn)) qC huwwn 2500,0 27,0 67,5
31711160 |klwpnnutip Q< Ug 1200,0 10,0 12,0
44511220 wnwpuwntiuwy &knph gnndhpubip 9L hun 2000,0 1,0 2,0
44411740 gniguipwuwlnup Q< huwn 30 000,0 2,0 60,0
42121190 oph wndwtip q< hwn 15 000,0 1,0 15,0
42121190 oph wnidwhbin q< hwn 35 000,0 1,0 35,0
38421110 |opuwswihbip q< huwin 230 000,0 4,0 920,0
24411110 |onh dnpwly, 1 thwluiuny Q< huwtn 1000,0 30,0 30,0
42131470 dnpwlutinh dwubp QL huwwn 700,0 10,0 7,0
AN31170 opwjht hnuptinh Yupgwynpdwu thwlwubp QL hwwn 1500,0 6,0 9,0
42131170 gnwiht hnuptiph Yunqwinpdwl thwlwuubn G hwn 2 000,0 2,0 4,0
44163280  |oph W gnjnp2nt funnnuwljutip q< hwn 1 000,0 20,0 20,0
44521120 nawt thwluwtbp Q< hwn 5000,0 1,0 5,0
44221171 nnubiph hwdwp uwhdwuwhwynuiubp Q< hwuwn 8000,0 4,0 32,0
44221171 nnubiph hwdwp uwhdwusthwynuiubp 74 hwun 10 000,0 6,0 60,0
44221171 nnutph hwdwp uwhdwbwthwynuwubp ag hwuwn 13 000,0 2,0 26,0
42131480 thwlwutipp dwutip Qg huwtn 6 000,0 10,0 60,0
4411413 |jminwubiply a< Ug 2500,0 20,0 50,0
44821000 jwp, Uwtpwhwwnwlh < (hup 5000,0 10,0 50,0
44111417 |uwfuwtbpy < g 1300,0 10,0 13,0
44111414 |ubiply’ qwinbpuwh qc Ya 900,0 50,0 45,0
44111412 |ubipl, 2huwpupulul a< g 1500,0 8,0 12,0
14811300 hnlnn uljwywnwyubip Q< hwn 14 000,0 2,0 28,0
44531110 |thwywnh wnunwljubp qc g 2200,0 0,5 1,1
44511260 hnywpenine QL a2 1900,0 1,0 1,9
44511260 hnywpeninp qc 2 2000,0 1,0 2,0




44511260  [hnywpnine < a2 2100,0 1,0 2,1
44521230 qnpdhpubinh hwywpwdniutip q< hwn 10,0 500,0 5,0
44521230 gnpdhpubinh hwjwpwdnubn QL hwuwn 10,0 500,0 5,0
44192630  |hbnynu 9L hwtn 40,0 25,0 1,0
44192630 htingntu 9L hwwn 50,0 25,0 1,3
44192620  |ubju dbinwnwluit qc Ua 800,0 33 2,6
44192620  |ubfu dbunwnwljui q< bya 800,0 3.3 2,6
44192620 b dEnwnuiwl Qg o 800,0 3.3 26
44521170  |uynnwbipubip Q< hwtn 2 000,0 20,0 40,0
44411751 uwhwlgnygh pwph wwpuwgutbp Q< hwwn 2500,0 3,0 7.5
44411710 uwuhwugnygh uutnuwwunbintp QL hwn 4000,0 5,0 20,0
44411751 uwuhwugnygh pwph wwpwgwubp aL hwuwn 4 000,0 8,0 32,0
44111200 gtdbuwn < Ug 60,0 7 500,0 450,0
14211000 wywg, Zhuwpwpwywl 9L u3 7500,0 10,0 75,0
44163130 wwpwutip Q< dbiunp 1200,0 65,0 78,0
44521120 nnwu thwljwltbip 9L huwin 2500,0 6,0 15,0
44112170 {hunjtnud L u2 2000,0 150,0 300,0
44161130 gpuwnwn funnnyubuunbin q< dtitnp 40,0 100,0 4,0
44163170 |ntanputr funnnuuwly q< dtnp 400,0 40,0 16,0
44221100 wwinnthwubp QL u2 25 000,0 30,0 750,0
44118400 wpnbuwunp| Q< u2 3700,0 216,0 799,2
42661300 kinwlguwu uwnpbp Q< hwn 44 000,0 1,0 44,0
31221241 rynuwybij-wunniunwy QL hwwn 25,0 150,0 38
31221241 nyniwbj-ujtnnunwl q< hwwn 20,0 150,0 3,0
31641216 huwwnnty wunnunwy QL hwn 500,0 2,0 1,0
44163270 funnnywlwjhl uwpptip QL hwuwn 700,0 30,0 21,0
44163270 funnnyuwlwiht uwppbp QL hun 500,0 30,0 15,0
44163270 funnnuwlwjht uwppbp qg hwn 900,0 50,0 45,0
44423600 Yuysntt dwwjwyutbn a< hwtn 500,0 20,0 10,0
44511330 winnunwljwhwttbp q< hwn 10 000,0 1,0 10,0
30197100 Yuiphsh dtnwnwjwnpt Ywuytn, Ubd Q< winith 2600,0 15,0 39,0
39263420 wdpwy, dtid q< wnnuh 1000,0 20,0 20,0
42661500 inwlgdw ng bllunpwlwu uwppbp Qg hwn 1200,0 10,0 12,0
24911900 uwhyh unuhtd uu lg 180,0 350,0 63,0
44921500  |Stihwdwdhly' ghwuwhu uu Ya 1500,0 6,0 9,0
19521300 wnihuwnhpnit uwihlubp uu u2 4 000,0 45,0 180,0
44411300 [ wgwipwutp hwwn Q<L 43 000,0 1,0 43,0
39141360 [nnuutitjwyh Ywhnyp hwn Q<L 50 000,0 1,0 50,0
30141360 rnuiukuywlbh Ywhnyp hwwn 9L 25 000,0 1,0 25,0
44411740 gniqupwtwlnup hwuwn Q< 55 000,0 1,0 55,0
44411760 qnigupwp enph pruwy huwtn q< 9 000,0 1,0 9,0
5 026,0
Whbgunwht wblutiplu
39714210 onnpuwyhg, 9000 BTU q< hwn 230 000,0 3,0 690,0
39714230 |onnpuwiljhs,18000 BTU Q< hwin 300 000,0 1,0 300,0
39721310 onunwpwgnighsubin q< hwn 37 000,0 4,0 148,0
o5iize  |unuwdph Yeunprbuigud Sl 9< huwtn 450 000,0 1,0 450,0
Ywpuwltp

39711350 duwnug Q< hwin 130 000,0 1,0 130,0
44511220  |wwpwinbuwl dtnph gnpdhputin a< hun 80 000,0 1.0 80,0




sospp |ouAnulut nupuignighe stipdufl 9< huwin 35000,0 1.0 35,0
Ywnguinphsny
31151170 dwnunyngutiph hgpuwynphsubip < hwn 5000,0 4,0 20,0
31442100 nunwlhs dwpunlngubip QL hwin 2100,0 80,0 168,0
39714220  |onnpuwlhs,12000 BTU 9L hwwn 270 000,0 2,0 540,0
39714240  |onnpulhs, 24000 BTU Q< hwwn 320 000,0 2,0 640,0
39714230  |onnpuwlhs,18000 BTU 9< hwwn 300 000,0 5,0 1500,0
39221290  |phupy 9L hwin 25 000,0 1,0 25,0
39711220  |bblupwljwl upGithtibn q< hwtn 205 000,0 1,0 205,0
39711140 Ytugunuyht uwnuwpwutbp Q< hwn 280 000,0 3,0 840,0
39711290 dhypnwihpwihu Junwpwitbp aL huwtn 65 000,0 1,0 65,0
32324900 hnnunwgnygubin Q< hwn 180 000,0 2,0 360,0
18521100 dwdwgnygubip q< hwuwn 15 000,0 1,0 15,0
39713432 |thnglalyny Q<L hwwn 235 000,0 1,0 235,0
6 446,0
kj. Ungpuiipbip, uwpptip
31211120 wiwywhnyhgutiph wplntip 4L huwn 3000,0 3,0 9,0
31681630  |bblwpwlwt wwywhnyhs, inw$iig, 63U q< hwn 6 000,0 17,0 102,0
31681600 biynpwlwt wwywhnyhg, < hwn 3000,0 1,0 3,0
31211180 wiftnndwin wugwinhstbin 9 huwin 1000,0 5,0 5,0
31211180 wiinndwn wigwwnhsubin Q< hwn 1600,0 5,0 8,0
31211180 wynnuwin wugwiinhsubip aL hwin 1700,0 2,0 3.4
31681600 biEyunpwlw wwwhnyhs, q< hwn 350,0 4,0 1,4
31681600 biyunpubwi wuwwhnyhs, < hun 600,0 4,0 2,4
31686100 t}:‘&"""w““‘t’ fupng® dhuiplibm, hnuitgnuind, | - g0 hwtn 250,0 60,0 15,0
31331270 E}]EET‘;?“;"JB“Z‘" wnbdjw, puqdwshn, ac dbin 200,0 200,0 40,0
31331280 lﬂﬁ";g“;“ d‘;" wudjw, puqiuigh 9c gt 250,0 1000,0 250,0
31331290 2%“5";:1”3“ d‘l‘;‘;‘ wnbdjw, puqdwshn, q< dbnp 400,0 100,0 40,0
31321110 qudn U thght qwipdwl dwiniulitip qg dbwp 600,0 100,0 60,0
31683400  |tinwpwfuhs a< huin 800,0 10,0 8,0
31685000  |kjywpwlwu bplwpwgdwl jwp L hwtn 1800,0 3,0 5.4
31685000  |bbunpwlw bplupwgdwl \wip q< hwun 1900,0 50 95
31685000  |Gjblwnpuljut plwnwgdwl (wp < hwn 2 000,0 4,0 8,0
31685000  |kbywpuilwl bplwpwgdwl jwn Q< hwn 2600,0 5,0 13,0
31685000 Eywpwlwt Eplwpwguwu [wp < hwun 3 500,0 1,0 3.5
31684400  |dwpnwy q< huwtn 700,0 10,0 7.0
31681100 Ewnpwyw wwnwgwubn Q< hwin 25 000,0 1,0 25,0
31681900 Epiyunpuiljut wynuhg (nnbi) Q< hwin 25 000,0 1,0 25,0
31512360 (nuwpadwyutn < hwn 50 000,0 5,0 250,0
31512360 [nwpdwlubp < hwwn 13 000,0 8,0 104,0
31531680 | glinbluyht jwiiwh dbluwnlhs qc huwtn 1700,0 30,0 51,0
31531210 kbl (wdy, 60W, 80W, 100W 9L hwn 120,0 105,0 12,6
31531210 flElunpuwiwt jwiy, 60w, 80w, 100W L hwin 100,0 15,0 1,5
31531300 intunbunn (widwbp qL hwtn 1100,0 10,0 11,0
31531100 Ebyunpuluwi jwdwbp Q< hwuwn 1300,0 20,0 26,0
31531100  |Glunpwlwl jwdwbip 9< hww 1500,0 70,0 105,0
31521560  |wpwwpht (nwuwynpdw jwdwbp Q< huin 1700,0 660,0 1122,0




31531300  |wwnbunn jwdubp QL hwtn 1900,0 12,0 2.8
31531300 intnbiunn (wdwbip ag hwn 1600,0 30,0 48,0
31521440 nnuwdwnh |nyubip QL hwin 1000,0 2,0 2,0
30121320 wnuyhsubinh ohiptwlwniuwgnighs uwppbip 9L hwin 10 000,0 4,0 40,0
30121320 unwhsubph ebpdwlwyniuwgnighs uwnptn QL huwin 10 000,0 4,0 40,0
31521500 wnwuwnwnh uwynpdwl uwppbn Q<L hwwn 4000,0 6,0 24,0
31321110 qudp U Uhgh jwpiwl duinifultn QL dbiunp 550,0 15,0 8,3
31211180 wfindwn wgwwnhsubn Q< hwun 3200,0 1,0 32
31531300 wnlwnbiunn (wdwtp q< hwwn 1100,0 25,0 27,5
31221180 (wiwtinh Ynpwnubip 9 hwin 650,0 25,0 16,3
31221190 dhwgnighsubip b ynuwnwlinwih inwppbp Q< hwwn 5500,0 16,0 88,0
2 646,7
18811130 unighilyhg Gupwinp Ynzhlyubip qc qnyg 3000,0 22,0 66,0
39514500 tiptiuh upphsubn QL hwin 1200,0 30,0 36,0
18311190  |juwjwpe q< hwtn 5 000,0 14,0 70,0
39221120 uwjwup QL hwuwn 200,0 20 0,4
39221120 uwjwup q< hwin 400,0 1,0 0,4
sqomg | Pepunimiiey N LARTATR 9 hwn 1500,0 2,0 3.0
wwipwgwtn
39221140 phjh Yud unipGh pwdwlutip Q<L hwuwn 900,0 6,0 5,4
39221140 phjh Ywd unipéh pwdwlubip QL huwn 600,0 6,0 3,6
39221130 pwdwlutin aL hwn 500,0 6,0 3,0
39221260 wihububp q< hwn 1000,0 6,0 6,0
39221120 uyjwiup QL hwin 12 000,0 1,0 12,0
18311190 fuw|we Qg hwwn 6 000,0 12,0 72,0
18311190 fuwwe QL hwwn 550,0 150,0 82,5
18811180 hnnwpwthtp Q< qnyg 45,0 150,0 6,75
35811170 hwdwggbuwn 9 Inwywgd 50 000,0 33,0 1650,00
39221130 pwdwlubp Q<L hwwn 1 000,0 24,0 24,00
39221380  |gqnuwiubp q< hwin 400,0 30,0 12,00
39221380  |qnuwiubp Q< hwun 300,0 30,0 9,00
39221390 wwnwnwpwnutp 9L huwin 400,0 30,0 12,00
39241120 tunhwunguyht nuuwbutp Q< hwwn 500,0 20,0 10,00
2084,1
Utbinuipbnp
15421100 |wipbuwdwinih dbp. nubhtwgws, (quwd) 9< {wp 1000,0 10,0 10,0
03211100  |gnpbiu 9 ya 200,0 500,0 100,0
03211400 quph q< g 155,0 15 000,0 23250
15511200 Ywp uu (hp 450,0 12,0 5,4
15542100 Yuplwonn nwuwlwl uu ug 1800,0 2,0 3,6
15551900  |wwinwjwnuwly Uu g 1200,0 1,0 1,2
15551600 dwédniu uu g 900,0 3,0 27
15512000  |peuwubp Uu Yo 1000,0 1,5 15
15542240 shinwp wwuhp uu g 4500,0 1,0 4,5
15541300 |wpd wwbhp Uuu Ua 8 000,0 1.0 8,0
15541100  |wwuhp, nnp uu ha 2700,0 1,0 2,7




15541100 wuwihp, [nh uu Yg 2700,0 1,0 27
15531100  |Ywpuwg uu g 5500,0 4,0 2,0
15431111 |dwpqunhu Uu Ua 1300,0 0,5 0,65
15511700 |Ywreh thnoh uu Ua -4000,0 0,5 2,0
15511600  |funwgnwsd Ywpe uu [ 1000,0 2,0 2,0
15511800  |yt$hp uu thwp 1500,0 2,0 3,0
15551300 jngnLpun uu Yag 1600,0 0,5 0,8
03142520 &nt, 02 Yupg uu hww 90,0 24,0 22
15111120 unwwpp dhu thwdny uu Ya 4 000,0 1.5 6,0
15131100 bpghlbint U udwbiwwnhy duwdptnp uu %1 28000 8,0 22,4
15131400 fungh duhg wuinpwutnywd wpnwnpwup uu Ug 3500,0 3,0 10,5
eenpsn |l Lheng) g wunnpuuntu uu Ua 7500,0 3,0 22,5
wpwnpwup
h ] &
sgigsg |mnlnh i hangh dubg i e uu ™ 11 000,0 3,0 33,0
wpunwnpup
15131230 wwigtnkitn uu lg 3500,0 1,2 42
bh ]
(5131650 |k nih duhg Wuinpu LS uu g 1400,0 2,0 2,8
wpuwnpwup
h
siztes0 | e nnRh duhg wunpuuALLG Ul e 1550,0 15 2,325
wpunwnpuup
15131631 |Uuh wwhwsn uu ug 1050,0 4,0 42
15131400 fungh tuhg wuwupuunyud wpuwnpwup uu g 2900,0 5,0 14,5
h
gigap  [osmh i konih dipg e uu Ua 4000,0 5,0 20,0
wpuwnpwp
15119610  |aniy haluw uu Ua 2500,0 4,0 10,0
15235300  |wwhwdnjwgyws anty uu ug 1550,0 15 2,325
15231400  |wwfuunwd éniy uu ua 1500.,0 2 2,25
2 656,9
Lwpnpuinnp wwpwqwbbp, uwppbp
30192125 dwplbipubp q<L hwwn 700,0 17,0 11,9
38421230  |futnwswih Q< huwtn 6 000,0 1,0 6,0
38311400 Yznwpuintip Q< hwn 3000,0 1,0 3,0
33191310 thnpawunputin a< hwn 140,0 1200.0 168,0
15991700  |$hpnph pnine q< g 4000,0 15,0 60,0
38411200  |otipwswipbip Q< hun 40 000,0 3,0 120,0
42991410 fuwnupsubip QL hwn 150 000,0 1,0 150,0
42991270 nnquinpnn uwnphn aL hwtn 8 000,0 3,0 24,0
33191316 |wuwwlb swiphy dkugniplyw® hnyywa yahyny Q< hwwn 4.000,0 4,0 16,0
33791300 (wpnpuwwnnp wujwljw wipuwnwup Q< huin 4 000.0 5,0 20,0
38431760 (wpwpwnnp 9puwhl pwnuhp Q< hwn 300 000,0 1,0 300,0
33791300 ||wpnpuwinnp wujwljw wpunwpup Q< huwn 150,0 20,0 3,0
3314121 pdaluluwi wi| gnpdhpubip L wwpuwquubn 9L hwn 2 000,0 10,0 200
sgsorpo0  [PnohuUl pnpusnnphugnid hpundt ac huitn 450 000,0 1,0 450,0
uwpplip
38411200  |otipdwswihbip ac huwitn 650 000,0 1,0 650,0
35121290 wnyhsubip 94 hwn 15 000,0 1,0 15,0
38421180 Jwundbwnptip Q< hwwn 15 000,0 1,0 15,0
38931100 |funtwnuejuits swithuui uwpphin 4L hwwn 25000,0 1,0 25,0




38421160 swihdwl U hunnnipjuil uwnpbip qC hwwn 45 000,0 1,0 45,0
38411600  |ph swihhsubip q< huatn 35 000,0 1,0 35,0
38431140 appnidnupjwl uwppwynpnudubip ag hwn 100 000,0 1,0 100,0
38431140 ybpmidniejwi uwppwynpndutip L hwn 60 000,0 1,0 60,0
42211210 dwljwpnutinbu wwinpuwutntnt dkphuwubp q< hwwn 35 000,0 1,0 35,0
39221100 funhwunguwjhlti uwppln q< hwn 80 000,0 1,0 80,0
42211200 utiunwugbipph tgwydwu Ubpbuwlwp Q<L hwn 250 000,0 1,0 250,0
33951400 'ﬂ‘::]’::’;nﬂ‘h”;n wuwgnygutiph unugiul | - q ¢ huitn 190 000,0 1,0 190,0
38431140 ybpmdniejwu uwppwynpnufubip QL hwwn 750 000,0 1,0 750,0
38431140 JGppnidntejul uwppwynpnuiutip QL hwn 750 000,0 1,0 750,0
38431140 Jtippidniejui uwppwynpnudubin Q< hwn 2300 000,0 1,0 2300,0
3gs0100  [Pronut fpgemoaT AL 4L hwn | 40000000 1,0 4000,0
uwnpbin
39181100 jwpnpuwinnphwip ubnutiubn q< hwn 174 000,0 1,0 174,0
39181100 (wpnpwwnnphwih ubnuwubp ac hwun 214 800,0 5,0 1074,0
39181200 {wpnpwuwnnp Yuhnyp q< [nuluqu 174 000,0 2,0 348,0
39181100 (wpnpuwnnphwih ubinwuubip Q< hwtn 244 500,0 4,0 978,0
39181100 jwpnpuwennphwjh ubinuuutp q< hwn 354 000,0 1,0 354,0
agsoio00  |PMTeU R Wnn a< huwin 102 000,0 1,0 102,0
uwnplip
39181100 {wpnpunnphwih ubnwiGn Q< huan 364 800,0 1,0 364,8
39181200  |jwpnpwwnp Ywhnyp 14 (nuilwau 195 000,0 1,0 195,0
39181100 {wpnpwinnphuwip ubnwuutp < hwin 244 500,0 2,0 489,0
39181100 (wpnpwwnnphwjh ubnwuubp qq hwn 354 900,0 2,0 709,8
voaor200 _|Prouluils wnpunnphuynud YRRt ac hun | 1020000 2,0 204,0
uwpphip
39181100 lwpnnu.lmnnhl.u]h ubnwuubp Q< hwn 174 000,0 1,0 174,0
39181100 (wpnpwinphuwgh ubinwuiubp < hwwn 354 000,0 1,0 354,0
agmgiooy | pupnpinnep R biyusesloy a< huitn 102 000,0 1,0 102,0
uwppbp
39181100 jwpnpwwnnphwh utnutp Q<L hwwn 255 000,0 1,0 255,0
30181200 |WwpnpWwnnp Ywhnyp qZ huwtn 742 800,0 1,0 742.8
39181100 jwpnpuinnphwih ubnubn Q< hwuwn 364 500,0 2,0 729,0
39181200 jwpnpwwnnp Ywhnyp q< pwywqy 195 000,0 2,0 390,0
39181100  |(wpnpuannphuwjh ubnwiliGp Q< hwtn 96 000,0 2,0 192,0
39181100 jwpnpwinnphwgh ubiuubp Qg hwwn 144 750,0 4,0 579,0
39181100 jwpnpuwunnphwh uGnwliGn QL hwn 214 500,0 2,0 429,0
39181200 jwpnpuwnnp Yuwhnyp QL inwlwaqd 174 000,0 2,0 348,0
39181100 jwpnpwwnnphwih ubinwiubin QL hwwn 90 000,0 1,0 90,0
30181100  |jwpnpwinnphuih ubquuitibp QL hwin 90 000,0 1,0 90,0
39111140 wennubip 9L hwwn 21 600,0 10,0 216,0
38651230  |fungnpugnighstibin Q<L hwn 2 000,0 1,0 2,0
31512320 nuunpwiwbnwywgnyu jwdwbn q< hwin 25 000,0 3,0 75,0
31711440 kybypnuwhu punbigpuiy ufubdwubip QL hwun 90 000,0 1,0 90,0
38421220 nidh quwhwwndw uwppwynpnuiubp qQ< hwun 80 000,0 2,0 160,0
38421220 nidh quwhwndwy uwppwynpnidubp qg hwwn 105 000,0 1,0 105,0
—— onwlighs (uludwnhl) ¥ hwn 35 000,0 2,0 70,0
quuutip
44163180 wnnujwwnk funnnyuwly Q< Ug 511,9 168.,0 86,0
44521160  |pnpwlbip G¢ dkinp 4200,0 79 315




44521160  |onpwubp 9L dbinp 4000,0 7.5 30,0
42141200 Yuiprpwtwh (hutnutin Q< hwn 50 000,0 1,0 50,0
42141190 (hutintibiph Ygnpnhsubip 74 hwn 55 000,0 1,0 55,0
vaosta00 | wiugnygllinh unugiult | - g huitn 555 000,0 1,0 555,0
hwlwpwsdniubip
33191310 thnpawunputin < hwn 6 000,0 6,0 36,0
33191310 thnpéwnRubn 9L hwwn 27 500,0 2,0 55,0
33191310 thnpdwunputin q< hwin 27 500,0 2,0 55,0
33191310 thnpéwunputbp q< hwwn 27 500,0 2,0 55,0
Jwpnpwwnp wqrubjnigtin (nbiwgkiinubin)
6
33691420 puwqUunduynliztin Q< [nulwgd 380 000,0 1,0 380,0
unuelip (nbiwghbuwnub
s3pglag0 | Lennwn warLnt (nuGHLLLET) ac | puywqs | 3600000 10 360,0
pwqUwyndunulitn
42921180  |ypbinputip ac huwin 220 000,0 1,0 220,0
38411400 | funbwduswihbn Q< huwtn 490 000,0 1,0 490,0
38431140 Yt nidnipejw uwppwnpnwdubin qg huwn 1 050 000,0 1,0 1050,0
19642200 wnihtehiEuwht punwlp
uwppwynpnuiubpp dwdltnt hwdwp . g 7400 0,0 45
33691160 phipwlw warwlyniRbn (nbwgbuwnutin) Q< hwn 153 000,0 1,0 153,0
33191310 thnpawnpubp QL hwtn 50 000,0 3,0 150,0
33191310 thnpdwunutn 9L huwin 50 000,0 3,0 150,0
42011160 onp dwppdwl uwppwynpnuiutn qg hwwn 120 000,0 1,0 120,0
42041110 Junwpwtttp L npwbig wwpwquwubin q< husn 198 000,0 1,0 198,0
42941160 pulndwts Yuyniuwsbiping (Rhnpunuwnwwn) Q< hwin 498 000,0 1,0 498,0
38431430  |pwihwhuwphgutin L npwtg wwnwawubpp 9< hwn 121 000,0 1,0 121,0
33191312 wwywlb Ynjpw QL hwwn 1200,0 50,0 60,0
33191312 wiywyl Ynjpw QL hwtn 1200,0 15,0 18,0
33101314 wuywlyt pwdwtihs dwgwn /hnlyws Uahlyny QL hwwn 1000,0 40,0 40,0
33191314 wwwyb pudwuhy dwgun /hnlywd Yahyny q< hwun 800,0 30,0 24,0
33191312 wwwlb Ynpw Q<L hwn 1000,0 20,0 20,0
33191312 wwwyb Yynjpw 9 hwin 200,0 10,0 2,0
33191312 wuywlb Ynppw Q<L hwn 800,0 20,0 16,0
33791300  |(wpnpwwnnp wiywljw wpuwnpwup QL husn 1400,0 20,0 28,0
33701300  |jwpnpwinnn wujwljw wpnwnnwip Q<& hwn 1600,0 20,0 32,0
33791300 [WENPWNND wwljw wpunwpuip ag hwtn 200,0 10,0 2,0
33191310 |thnpdwunpubp < hwn 1000,0 10,0 10,0
15991700 $ppnph pnune qL ya 4 400,0 30,0 132,0
33191317  |hwluSwuwwll puuhy Q< huwin 1200,0 10,0 12,0
33791300 (WpnpWnnD wujubjw wpunuwnpuiup QL hwun 800,0 20,0 16,0
33701300  |qwpnpwunnp wywljuw wpunwnhwup 4< hun 1000,0 20,0 20,0
33791300 (WRnpWNND wijuljw wpthwnpwiup Q< hwun 2 000,0 5,0 10,0
39221270 pwu wjwundwuuuwy Qg hwn 450,0 50,0 25
26 248,3

| ehuhulyut tynebip, Yunuhltn




phihwlwt wgnwtynibn (nBwgbuntbn)

33691400
puiquwlnduyntbin q< Lpwlywqd 15 000,0 1,0 15,0
phuhwywu wqnwujngbin (nbwgqbuwntbip)
33691400
pugwlgnduntibiun q< nwlwgu 20 000,0 1,0 20,0
phihwlwy wgnwunietn (nbwgbuwnutin)
33691400
auiqUwndiyntibtn Q< Inwywqd 220 000,0 1,0 220,0
phihwlwt wonwynuyabip (nbwgbuwnutin)
33691400
pwquwlniyntibn a< (nwljwqd 20 000,0 1,0 20,0
dhwlwl wqnwniplp (nbughnutn)
3301400 |2
puwquulnduyrlibtn QL (nwljwad 20 000,0 1,0 20,0
phihwlwl wanwuynpetn (nbwagbuwnubn)
33691400
awqUwyniuynbbun q< (pwywqu 20 000,0 1,0 20,0
phihwlwt wonuwunyetip (ntwgbunutin)
3691400
3369 pqUilynduyroblin QL (nwywqu 20 000,0 1,0 20,0
phihwlwt wanwiynietp (nbwgtiunutn)
33691400
puigquwlndunubun Q< (nuljwqu 20 000,0 1,0 20,0
phupwlw wonwbynebp (nbwgbluntbn)
33691400 g
il il < inwlwaqd 20 000,0 1,0 20,0
24321660 quitwqut opqutwlwt phihwlwl yjniphip < aqpwd 260,0 100,0 26,0
33621766 wnupfnL q< Ug 2 000,0 1,0 2,0
24311260  |uwwiphnuih hhrpopupn <& g 2000,0 1,0 2,0
33691163 waqun, Eunnwgwp < hwin 30 000,0 3,0 90,0
24321610 uwfuwpnqu QL la 8 000,0 3,0 24,0
33691163 waquip, Funnwaqun < hwn 22 500,0 1,0 225
33691163 wauwip, Lunnwqup Q< hwtn 22 500,0 3,0 67,5
33691163 wawn, Eunnwgwp g hwuwn 22 500,0 3,0 67,5
33691163  |waqup, funnwqunp < huwtn 22 500,0 3,0 67,5
33691166 wwwnpwuwnh dhypnphninghwlwl dhowdwin qg hwun 50 000,0 4,0 200,0
32351310 utiunh thwpbpwynpiwy pwnwuplbp qg hwuwn 25 000,0 1,0 25,0
24311260 twwnphnuih hhnnopuhn qc g 1820,0 4,0 7,3
24311271 YuighUuwgywd unnw 9< Uag 560,0 2,0 151
14781100 Yuwihnd &< Ya 2500,0 7,0 17,5
24311114 Sodpwlwl pent q< g 1330,0 13,0 174
14411400 wnwjhu [ndnye q< thunp 100,0 6,0 0,6
24321860 wgnunwljwl prnt q< lg 1200,0 3,0 3,6
phuhwluwt warpwbyniyebp (nbwgkUwnubin)
700, gy ,
33691411 dinoh it qputingbp ]< g 00,0 0 6,3
33691862  |bhuhy hhnpwght QL Ug 1730,0 3,0 5,2
24321440 wgufuwppnt Q< Ua 2000,0 10,0 20,0
p
24311127 twwnphnuih Guppnliwn q< Ug 1250,0 1,0 1,3
44921200 Uhn, thnzh qc g 250,0 200,0 50,0
03321800 Gwgupubp uu hwwn 1000,0 150,0 150,0
33691163 wawn, Eunnwgun 9L hwtn 22 500,0 3,0 675 .
33691163 wagwp, Kunnwaquwn Q< huwin 22 500,0 3,0 67,5
1384,1
Rdyljwlwt wwpwqwbibp, REanpwip,
whwutwpndwljwl nlinkp
bpwlwhu hwdwlywngh, wpjwu
1 9L h 200,0 20,0 4,0
ARl thnpdwudniputiph Ybipguwl uwippbp .
33141300  |sbmungutip pdpluiti ng uwnbinhy Q< hwwn 150,0 100,0 15,0




33141156 pdolywljwt Skntingutip Q< hwn 30,0 1100,0 33,0
18311190 fuwwe QL hwwn 450,0 20,0 9,0
33141129 nhdwl Q< hwtn 50,0 200,0 10,0
18441100 qruwpyubp ag hwin 30,0 20,0 0,6
18811180 hnnwewthbp Qg qnug 30,0 100,0 3,0
33141111 Ywgntt uwbnwuhubp 9 huwin 5,0 50,0 0,3
33141112 uwtnwuhubp (wjwuwnhp) aL hwwn 400,0 5,0 2,0
33141110 UhpwYwuwbp QL hwtn 300,0 10,0 3,0
33141142 ubipwplhgubip Q<L hwn 50,0 50,0 2,5
33141142 ubipwpyhsutip Q< hwtn 40,0 50,0 2,0
33141144 pdzlwlwl wubinubp < hwn 30,0 200,0 6,0
43411100 inbuwluwynpnn U dwnbnt uwnpbip Q< hwn 4800,0 4,0 19,2
24321400  |Ephy wiynhn q< (hunp 1800,0 22,0 39,6
24321311 hanupnwhy uwhpwn q< (hup 1500,0 3,0 4,5
33141115 pdalulwu pudpwly < hwuwn 200,0 15,0 3,0
03111250 puidpuwly 274 Ug 2 300,0 2,0 4,6
33141114 g‘;ﬁ:}”“"’" pultigh (duwnyw) wuntpinip* Q< dbnp 150,0 70,0 10,5
gyniynquidpu (quniynquidpuh unybuin),
33691208  |pnunpnhinhUh unydbuwin, hpnuwypndbit - q< hwwn 700,0 25,0 175
MO9AX
33611420  |Yuyghnuih gynLyntiwn al2aa03, d11ax03 §< hwwn 600,0 100,0 60,0
33671135 Yyuyghnwih pinphn.  BOSXAO7 q< hwwn 500,0 10,0 5.0
33611350 wulnpphuwpepent g01ad03, sO1xal5, al1ga01 L hwwn 70,0 200,0 14,0
Pnpuweent, Ywwwnh wgknwn, uwuwnphnuih
wn, iy, ,
33631440 om:umhﬁ:tn:‘lpu; Jﬂqﬂﬂgﬂﬁﬂ?ﬁughnw 9< huwtn 400,0 20,0 8,0
whinpwihl, $npdwinthhnh inidnye DOBAX
33691176 wy) nEnnpuip QL hwtn 700,0 30,0 21,0
33691176 wy nEnnpup qL hwn 9500,0 3,0 28,5
33141213 pdolyuljuit Juqlihu < Ug 1200,0 10.0 12,0
33691176 wy| nannpwip Q< hwn 7 500,0 1,0 75
33691176 wj| nnnpwip Qg hwuwn 6 000,0 6,0 36,0
33691176 wj| npEmnpuwR gL hwn 400,0 1,0 0,4
33631150  |ghulh opuhn DO2AB 9L hwn 500,0 20,0 10,0
33691176 wy| nbnnpuw)p q< hwwn 3 000,0 30,0 90,0
33691121 w(pbunwagnyp02cal3 g< huwun 7 400,0 30 27
24451141 whuwnwhwuhg htmnty ujnipbin QL thuinp 6 500,0 3,0 19,5
33691176 wy| rpunnpugp QL hwn 80,0 200,0 16,0
03341100  [wwwph wywbguliph whunwljubip < huun 500,0 100,0 50,0
44511250 utindhs wpguitibp 9L hwin 17 000,0 1,0 17,0
44511250 ubndhg wpgwtbp < hwin 29 000,0 1,0 29,0
33691176 wy| nEnnpwip Qg hwn 7500,0 2,0 15,0
33691176 |wy nbnnpuwip ¥4 huwn 2800,0 20,0 56,0
33691176 wyp nbinnpup Q< hwuwn 3000,0 50,0 150,0
33601176 |y nbmnpuyp Qc huwtn 4000,0 50,0 200,0
33691176 wy nEnnpwjp q< hwwn 600,0 300,0 180,0
33691176  |wj) nbnnpwjp q< hwtn 2800,0 30,0 84,0




E-utyu / wwnphnwih ubijttipun, wnynpliphih

33691720 Q< hwuwn 2300,0 30,0 69,0
wghbunwin/
33691176 wy| nbnnpuwp q< hwun 700,0 100,0 70,0
33621680 wnnwpwunjn c07aa05 Q< hwwn 1900,0 10,0 19,0
15911100 uyhpwn Q<L thinp 1600,0 3,0 4,8
33141115 pdoljuljwt puidpwl < huwn 200,0 10,0 2,0
33691849  |wgbunu/ nhdbiphy Yuwnnu Q< thup 1200,0 2,0 2,4
33621643  |hwlwubfuhs (wlnputiunhl) htinnyubip q< (htnp 930,0 300,0 279,0
33141129 nhdwly QL hwn 20,0 4200,0 84,0
24451141 wiunwhwuhg hnniy yyniebin aL hwp 145,0 90,0 13,05
39831245  |o6wn, htinniy Q< thwp 156,0 150,0 23,4
33691176 wy| nbnnpwp Q< huwtn 13 000,0 6,0 78,0
1965,0
@mitwphdhwwnibp, wwpwpnwbjniebn L
ghbbgapdwlut bynipbn
244511 dhowinwuwjwt htinnuy Ynupbip qL {hwnp 15 500,0 10,0 155,0
24451120 dnjuwfunwntiph nbd wwjpwpnn ujnipbin Q< (punp 7 000,0 40,0 280,0
24441100 quitiquitl wwpwnunwljnpkin Q< g 240,0 750,0 180,0
24441100 quitiwgqwl wwnwpuwlnyRln q< Ya 240,0 1500,0 360,0
24451110 Uhgwnwuwwt Ujniyabip Q< Ua 10 000,0 20,0 200,0
24451111 dhowtnwuwwt htnniy uynbin Q<L (hunp 22 000,0 20,0 440,0
24451111 dhowinwuwwl hnniy ujnietip QL (htnp 10 000,0 7,0 70,0
24451200 uultiph nbd wwpwnh Unyplip Q< la 1800,0 120,0 216,0
24451200 utlph nbd wwjpwph ujniphin 9L Ug 4000,0 50,0 200,0
24451200 utlybiph nbyd wwjpwph bnpGP A< Ua 2600,0 120,0 312,0
24451190 ypdnnubiph nbd wwjpwph ujnplip 9 Ua 11 000,0 10,0 10,0
24441100 quuwquu wwipwnnwjniptn q< Ug 140,0 25 000,0 3500,0
24441100 qulwql wwpwpunwujniRlp Q< Ug 200,0 5100,0 1020,0
24451111 dhguinuuuu htnnty uynipbp qc (hup 11 000,0 10,0 110,0
2445111 dhouinwuwwl htnniy ujnipbin q< (hwp 13 000,0 10,0 130,0
54451200  |utltph nbd wwjpwph byt < g 13 000,0 10,0 130,0
2445111 Uhownwuwjwi henniy ujnpbin q< thunp 24 000,0 5,0 120,0
24451200 utytiph R0 wwjpwph el L lg 13 000,0 10,0 130,0
33691147 pniuwuniebin Qg {hwp 20 000,0 5,0 100,0
33691117 |wnwntiibptip + (nuib$uwitinpht pO1bfol qc huwin 5 500,0 40,0 220.0
24451200 utilytiph nbd wwjpwph Ujnuelip q< ug 5000,0 20,0 100,0
24451120 dUnjwfunnbiph nbid wwjpwpnn ujnietip q< (htnp 2500,0 64,0 160,0
24441100  |quiliwqu wuwpwpunwnuetn < Ua 125,0 800,0 100,0
24451200  |utlbiph ntd wwpwph Unwelin &< g 2500,0 100,0 250,0
33691147 pnluwujnipbin a< thinp 24 000.0 18,0 432,0
24451200 utlytpp nbid wwipwnh bynipEn qg Ug 73 000,0 10,0 730,0
24451200 wultph g wwjpwph uynuphip q< ug 73 000,0 2,0 146,0
33691147 pniuwnipbp < {hup 18 000,0 35,0 630,0
24451200 uuliph nbd wwjpwph Ynyetip Qg la 13.000,0 30,0 390,0
24451200 uulytph nbd wwipwnh uyniplip ag ug 7 000,0 50,0 350,0
24451200 utliph nd wwjpwpp ujnuelin q< ug 11 000,0 60,0 660,0
33691147 pnilwnebp Q<L (hwnp 59 000,0 8,0 472,0
33691147 pniuwunLpbn L (hup 14 000,0 8,0 12,0
33691147  |pntuwljniyplip Q< {hwp 75 000,0 1,0 75,0
24451111 Uhowinwuujw htinniy uyniebp Q< {hwp 21 000,0 13,0 273,0




2445111 Uhgwinwuwjw htinniy Ujniptin g< (hwp 15 000,0 10,0 150,0
24451110 Uhgwinwuwwu ujnuatin 9< Yg 102 000,0 5,0 510,0
24451110 dhgwnwuwwu ujnibn 9L U 99 000,0 5,0 495,0
2445111 dhowitnwuwjwl hbinnily unietip a< lhunp 22 000,0 15,0 330,0
24451111 dhownwuww hinniy ujnibp Q< (hwp 10 000,0 4,0 40,0
244511 Upgwinwuwwu htinnly uniptip q< thunp 23 000,0 2,0 46,0
24451111 Uhgwinwuwwl hbinndy ujnuetip < thunp 24 000,0 4,0 96,0
24451120 Unjwlununtiph ntid wwjpwnnn unietn G< (huip 7 680,0 100,0 768,0
24451120 Unjwfunwntiph ntd wwipwnpnn Unietin Q<L (hwnp 13 000,0 20,0 260,0
15931910 ghtbignpdwlwy pwlnbphwubp QL wntth 65 000,0 4,0 260,0
15931916 ghubignpdwlwu Yuyniuwgunn unipbp Q< Ug 15 000,0 2,0 30,0
24311290  |&nuip < g 1000,0 3,0 3,0
24111160 wgnun Qg u3 2500,0 24,0 60,0
ubignpdi U Gphwub;
sagygy | Hrebeentuliul mulmtppuboph a< inith 30 000,0 4,0 120,0
ullunwunitip
39224440 27bn < hwun 30,0 400,0 12,0
39224440  |9obip a< hwn 10,0 400,0 4,0
39224440  |gobp Q<L hwn 200,0 3 060,0 612,0
39141370 |ghunt dwnwuh wwpwgwubp q< hwn 1500,0 200,0 300,0
39224471 ghunt 22wigliwt wwpwqwbp G hwwn 17 800,0 1,0 17,8
39224471 ghunt 22w|guwl wwpwaqwubp q< hwwn 20 200,0 1,0 20,2
39224471 ghunt 22wguwl wwpwaqwutin qg hwwn 20 200,0 1,0 20,2
sqatiizg  |Abwauls wongubwlyuit ghdhuwlul ac gpwd 30,0 1000,0 30,0
ujnitin
24321840  |wdnuhnwih nnnuthwn 9L Ug 1500,0 50,0 75,0
24321840  |wdnupnwh nnuwthn < g 1500,0 30,0 45,0
24311600 ERnwpenL Q< 1 800,0 2,0 1,6
24321650  |gqihgliphu < g 1500,0 4,0 6,0
14781100 Yuihnud < lg 2 000,0 30,0 60,0
33611430 |wihnuh jnnhn r05ca02, sO1xa04, v03ab21 Ve Ug 40 000,0 3,0 120,0
33611430 Ywihnwh jnrhn r05ca02, s01xa04, v03ab21 qL ug 35000,0 ] 52,5
14781100 Luughnwd 9L Ua 2400,0 20,0 48,0
33691134 Lwihmdh pinphn. al2ba01, b0S5xa01 Q< Ya 800,0 20,0 16,0
33621766 wnwpRNL q< Ug 6 000,0 2,0 12,0
14771400 Yughnud Q< g 3 000,0 20,0 60,0
aagarag  |Wwnnhnudh pinphn, Lushauh pinabr, ac g 800,0 5,0 4,0
Yuighnuh pinnhn (nhtgtinh imdnyre)
14781200 dwqubighnud q< Ug 2500,0 10,0 25,0
sasijzg  [ANWQW whopgqubauluts phdpiuult 9< gpwd 45 3000,0 13,5
ujnielip
24311114 Sddpwlywu penL q< Ug 1000,0 5,0 5,0
24321660 quitiuqui opguitiuljwt phihwlwu Ujnipbip q< gnwd 3,0 50 000,0 150,0
24321660  |quiiwqut opquitwlwl phdhwlwt nyptn Q< gnwd 15,0 10 000,0 150,0
24321660 quitwqu opguitwlwl phuhwljwt nuebip q< gpwd 15 4 000,0 6,0
24321660 quitiwqut opgwiwluwt phihwlwu Ynipbn q< qpwd 8,0 5 000,0 40,0
sy [T wheng ikt phup R q< gpu 30,0 1000,0 30,0

Ujnuelip




24321840 wunuhnwh nnnwtpun Q<L Yg 1500,0 50,0 75,0
24321840 winupnwih nnnwuhwn Qg Ug 1500,0 30,0 45,0
u
B v i e phdhuwl q< gpui 30,0 1000,0 30,0
unpbip
1f] u
e e el a< gpuwd 1,0 3.000,0 3,0
Ujnuebip
Uwqui wi
oy |2k donadinip A g a< qpuad 6,0 3000,0 18,0
ujnuypbip
33611430 wihnudh jnnhn r05ca02, s01xa04, v03ab21 aL Ua 40 000,0 1.0 40,0
14781100 ughnud q< Ug 2400,0 2,0 4.8
33621766 wnwpgent q< lg 800,0 3,0 2,4
uwwnphnuih pnphn, Ywihnuh piephn,
33691129 Qg 9 2500,0 6,0 15,0
Yughnui pinphn (rhuglinh inidnype) ;
14781200 dwgubghnud 9< Yg 4500,0 5,0 225
R whiopgutiwljuw phihulu ac apwd 45 5 000,0 25
uniebp
24311260 uwwnphnuwh hhnpopuhn SC Yg 1000,0 40,0 40,0
24311114 sddpwlwl pent q< 151 1000,0 20,0 20,0
24321660 quiiwquwl opquiliwlwu phdhwlwu yniuypbn AL gpwd 3,0 5000,0 15,0
24321440 pwgwiuwpRnt a< Ya 1200,0 10,0 12,0
24321660  |quuwqul opguitiwlywl phihwlwt bynyebin qc gpwd 8,0 3000,0 24,0
24311420 tpluweh unydwn Q< Ug 2 000,0 5,0 10,0
24311200  |bnunpulwu ppnt 9< Lg 1500,0 10,0 15,0
24311480 Yuwihnuwih wbpdwlguwuwn Qg Ua 4 500,0 1,0 4,5
24321840  |wdinthnuih nnnwupn q< g 800,0 15,0 12,0
33691855 wpdwyzh Upwnpwwn q< g 600 000,0 0.2 120,0
24321660 quuwqwl opquiwlwu phihwlwl Uyniptn qc qpwd 850,0 250,0 212,5
ubehyphnthuh pinphn, (dbph(bU
0
33691142 uiunyun)v03ab17, v04cg05 Q< g 100 000,0 0,2 20,
33691851 uwinppnud - Yuhnud ghubprUwlywu q< la 3000,0 2,0 6,0
33621766 wnwRRNL q< Yg 1200,0 2,0 2,4
24321840 winuhnwih nnnwuhwn QL Ua 3 000,0 5,0 15,0
24311410 wynwihtuh unyduwn Q<L lg 1200,0 5,0 6,0
24321660 quuwqu opquitiwlul phuhwlwl nyatin < qpwd 400,0 100,0 40,0
14711410 ghuy dbnwnuljul gpwunyugud QL LUg 6 000,0 0,5 3,0
saatiizg  |Qwlwau wionquiiwliul phipwlsl Q< apwd 3,0 500,0 1,5
ujniplip
24321440  |pwguwfuwpent 4L la 1200,0 1.0 1.2
24321660  |quuwqul opquiiwluwl phihwlw unietin Q< gpwd 600,0 70,0 42,0
24441100 quitigquu wwpwnunwinekp < Uag 1600,0 50,0 80,0
24441100 quiiuqu wjwpwpnwljnREp Q< Yg 1600,0 50,0 80,0
24441100 quitiwqul wwpwpnwunuyatn q< LUg 1 000,0 50,0 50,0
24441100 quiiwquil wwpwnnwyyniebin QL LUqg 1000,0 50,0 50,0
24441100 quitiwqul wwpwpuwuniyptn L Ua 1 000,0 50,0 50,0
44421700 wpyntip uu hwin 450,0 530,0 2385
44421700  |wpUnbp uu huwtn 570,0 712,0 405,8
39561140 nbynpwwnhy quiprwitiwfugbip uu hwn 9600,0 1,0 9,6
39561140 ntynpwnhy quiprutiwfuztn Uu hwwn 9600,0 4,0 38,4




19 869,4

Spuubyuluh Yuhnyp, gnyp
39111180 wpenn' gpwubljwlw)ht QL hwin 21 000,0 5,0 105,0
39111180 wpenn’ gpwubtjwljugh < hwn 10 000,0 20,0 200,0
39111220 puglwpenn’ nbywjwph < hwn 90 000,0 1,0 90,0
39121520 gpwwwhwpwuutp Q< hwn 59 000,0 1,0 59,0
39121520 gpwwwhwpwiubn q< hwin 73 000,0 1,0 73,0
39111180  |wenn’ gpwubtywluwyhu 9< hwtn 6 450,0 2,0 12,9
39111180 wpnn’ gpwubbjwlwihu Q< hwtn 50 000,0 1,0 50,0
39111180 wenn’ gpwubbjwlwihu 9L hwin 21 000,0 1,0 21,0
39111180 wpenn’ gpuubywlwhu 9L hwn 80 000,0 1,0 80,0
39121100 gpwubinuuubn QL hwtn 36 000,0 22,0 792,0
39121440 ubnwt' twjuwgwhnipjwu q< hwtn 300 000,0 1,0 300,0
39141260 qgbunwuwhwpwbp Q< hwn 110 000,0 2,0 220,0
39121520 gpwwwhwpwutbn q< hwun 260 000,0 1,0 260,0
39111180 wpnn' gpwubljwlwiht q< hwun 42 000,0 28,0 1176,0
39111170 wpann’ thwthnty < hwn 40 000,0 2,0 80,0
39111230 thnpp pwqungubip q< hwn 200 000,0 1,0 200,0
44421300  |shplyhqynn wwhwpwtbp q< hwn 105 000,0 1,0 105,0
39121200 ubnwutbip QL hwn 80 000,0 1,0 80,0
39111140 wpannubip < hwin 33 000,0 4,0 132,0
39121500 funhwungwjht wwhwpwuubp q< hwn 195 000,0 1,0 195,0
39111220 puqlwpenn’ nywdwph < hwn 80 000,0 1,0 80,0
4 310,9
Snunbip, puninbip
09211100 owpdhsh jninkp a< thunp 3 000,0 2,0 6,0
09211100 owndhsh jnintp q< (hwnp 3000,0 2,0 6,0
09211650 wpgbjwlh hbnndy 9L thuinp 1100,0 8,0 8,8
h wngbipnui U w
09211600 nm:‘"ilﬂgb?‘ﬂ‘zgm&tn"n -ty r:llnhn q< hunn 2500,0 2,0 5,0
09211400 Uinfuwtgdw wnwhh jnintip q< thunp 2400,0 10,0 24,0
09211150  |hwn)-24 Q<L lg 1800,0 60,0 108,0
09211820  |uwdpewyhu jninGnp 9L thwp 1100,0 50,0 55,0
09134100 nhabijwjhts jninkp Q<L thwp 1200,0 310,0 372,0
09211100 awndhsgh jninbip 9L thuip 1500,0 40,0 60,0
09211100 awndhsh Jnntp < (hwp 4000,0 52,0 208,0
24951311 hwlwuwnbtgnighs Ujniptip Q< thwp 700,0 70,0 49,0
09211620 wnbfuuninghwluwt jnintip q< hwp 10 000,0 0,2 2,000
903,8
Ywnbihp
09411710 ubnijwé ptwlwu quq < g 350,0 15 600,0 5 460,0
09134200 nhqtwihu Jwnbihp, wdwnwjht Q<L thunp 370,0 16 000,0 5920,0
09132200  |phuqght, ntigniywn 9< {hwp 400,0 16 000,0 6 400,0
09132100 pbught, wpkidhnud 9L lhwip 420,0 8 000.0 3 360,0
21140,0
Uwnnuywhbunwidwubp b
qynin.inbfuihluih dwutip
44611200 gugh pwinuubp q< hwn 50 000,0 1,0 50,0
42131250 ququiht pwinuubiph thwlwiubp q< hwn 10 000,0 1,0 10,0
44161110 ququih funnnywlw)wptp G< dtwnp 1000,0 9,0 9,0
42131250 ququjht pwnuubiph thwlwuubp a< hwin 25 000,0 2,0 50,0




35121290 wnyhsubip < hwin 2000,0 5,0 10,0
44322200 dwinifu, bnpulw jwp 9L dtinp 2000,0 5.5 1,0
N o s Ve hwin 25 000,0 2,0 50,0
YJwhwuwlubp
34331300 wiinndbipbuwutiph wwhbuwnwdwubp qg huwin 5 000,0 3,0 15,0
el e sl a< hwn 1350,0 30,0 40,5
duutip
16811100 gniuinunbuwywu uwppwynpnudubiph ac _— 250,0 60,0 15.0
dwubip
eafiiny  pUULsARBUUOR LR Ye hwn 1350,0 50,0 67,5
dwubp
Pl e e il a< b 1200,0 3,0 3,6
wuwpuwupubip
44531180 duiubly S Ug 1300,0 1,0 1,3
16811100 gnunuitnuntiuwlw uwppwynpnuiubiph ac —_— 400,0 100,0 40,0
dwubip
34331300 wiinndbipbwubiph wwhtunwdwubip Q< hwwn 9000,0 1,0 9,0
34331300 winndtipbuwiutinh wwhbuwnwdwutn < hwwn 25 000,0 1,0 25,0
34331300 wyinnibipbiwtbiph wwhbunwdwubp q< hwn 5000,0 4,0 20,0
34331300 wynnibipbwttinh wwhbuwnwdwubip Q<L hwn 4200,0 6,0 25,2
34331300 wywndbpbtwutiph wwhbunwdwubip < hwtn 1000,0 8,0 8,0
34331300  |wywindbiptuwubiph wwhbunwdwubip q< hwwn 1100,0 4,0 4,4
34331300 wywndbptiuwubph wwhbunwdwubip G hwuwn 2200,0 4,0 8,8
34331300 wyunndbipbuwtbiph wwhbunwdwubip Q< hwn 3500,0 2,0 7,0
34331300 winndbipbuwubinh wwhbuwnwdwubp q< hwn 3500,0 4,0 14,0
34331300  |wywnitipblwtbiph wwhbGunwdwubp < hwtn 3700,0 1,0 3,7
34331300  |wywndtipbuwbiph wwhbuunwiwubp qc huwn 4000,0 1,0 4,0
34331300  |wywnubiptuwutinh wwhbunwdwubip Q< hwn 5000,0 1,0 5,0
34331300 wywndbpbuwubph wwhbunwdwubp qC hwin 20 000,0 1,0 20,0
34331300 wywndbpuwutinh wwhbunwdwubp 9L huwwn 5 000,0 1,0 5.0
34331300 wyinndtipEuwutbiph wwhbunwdwubp Q< hwun 13 000,0 1,0 13,0
34331300 wyunndbpbiwttbph wwhbunwdwubp < hwn 20 000,0 1,0 20,0
34331300 wyinnibiptiuwutiph wwhbuwnwdwubin < hwwn 15 000,0 2,0 30,0
34331300  |wywndbpbuwubph wwhtunwdwutip Q< hwwn 8 000,0 2,0 16,0
34331300  |wunuibipEuwutiph wwhbunwdwubp Q< hwtn 32 500,0 2,0 65,0
34331300  |wywndbiptuwbbinh wwhbunwdwubn Q< hwn 8 500,0 1,0 8,5
34331300  |wyunubipbitwtbph wwhbunwdwubp a< huwitn 10 000,0 1,0 10,0
34331300 wyinndbiphiuwutiph wwhbunwdwubip QL hwin 6 000,0 1,0 6,0
34331300 wywnndbipbiuwubinh wwhbuwnwdwubp Qg hwn 4 500,0 2,0 9,0
34331300  |wywnubpbuwutph wwhbunwdwubp Qg hwwn 6 000,0 1,0 6,0
34331300 wfuinndbipbuwutiph wuwhbunwdwubin < hwwn 4000,0 1,0 4,0
34331300 wyinnibipblitiph WwhGunwdwutn a4 hwtn 5 000.,0 2,0 10,0
34331300 |wuwnubipbuwubiph wwhtunwdwubip Q< hwtn 1500,0 2,0 3,0
34331300 wninndbpbuwbinh wwhtunwdwubp 9L hwwn 1500,0 2,0 3,0
34331300 winnuibpbuwubph wwhbunwdwubp Q< hwtn 3000,0 2,0 6,0
34331300 wywndbptuwubph wwhtunwiwubp qg hwn 3500,0 2,0 7,0
34331300 wywnndbpkuwutinh wwhbutnwdwubp L hwwn 4 000,0 1,0 4,0
34331300 wuinndbipbuwubiph wwhbunwdwutip < hun 16 000,0 1,0 16,0
34331300 wywnndtipbuwubph wwhbunwdwubp Q<L hwwn 35000,0 1,0 35,0
34331300 wijinndbtipbuwutinh wwhbGuwnwdwubn q< hwwn 5500,0 1,0 55
34331300  |wyundbpbuwbbiph wuwhbunwdiwubip ag hwin 1500,0 1,0 1,5
34331300 wynnibipbuwtbnph wwhbunwdwubip SC hwwn 2000,0 1,0 2,0




34331300 wiinndbipbuwutiph wwhbunwdwubin < hwtn 15 000,0 2,0 30,0
34331300 wyinndbpbuwubnh wwhbunwdwubp q< hwn 10 000,0 2,0 20,0
34331300  |wywnndbpbuwtbinh wwhbunwdwubp ac hwwn 7000,0 2,0 14,0
34331300 wiinndbipblwbinh wwhbunwdwubip q< hwwn 7 000,0 2,0 14,0
34331300  |wywnubipbuwutiph wwhbuwnwdwubp Q<L huwtn 11 000,0 2,0 22,0
34331300  |wywindbpbuwbbph wwhbunwdwubp q< hwn 6 000,0 2,0 12,0
34331300 wynndbpbuwutph wwhbuwnwdwutip q< hwn 8 000,0 2,0 16,0
34331300 wywnnibpbtwubph wwhbunwdwubin < hwun 11 000,0 4,0 44,0
34351600  |qunuquintinbuwlwl dbpbuwbiph wihyutp q< hwtn 180 000,0 4,0 720,0
34351600  |qynunwuntinbuwlwt dtiptuwtbiph wupyubp Q< hwwn 80 000,0 4,0 320,0
34331300 winndbipbuwtbiph wwhbunwdwubn q< hwn 27 000,0 2,0 54,0
34331300 wifinndbipbuwbiph wwhBunwdwubp qg hwn 60 000,0 4,0 240,0
34331300  |wyinnubpblwtbiph wwhbunwiwubn a< hwin 32 000,0 4,0 128,0
34331300 windbpbuwbinh wwhbuwnwdwubip Q< hwwn 25 000,0 4,0 100,0
34331300  |wywnndbipbuwutinh wwhbunwdwubip Q<L hwwn 65 000,0 4,0 260,0
34331300  |wywnndbphuwutph wwhbunwdwubp q< huwn 65 000,0 4,0 260,0
34331300  |wywndbiptuwubiph wwhbuwnwdwubp Q< huwin 40 000,0 1,0 40,0
34331300 wifinndbpbtwtibiph wwhbunwdwutin q< hwn 100 000,0 1,0 100,0
34331300  |wyinubpbuwtbnh wwhbunudwubp 9< hwin 130 000,0 1,0 130,0
34331300 wywnnubpbuwutinh wwhbuwnwdwutip Q< hwn 15 000,0 2,0 30,0
34331300 wfinnubpbuwubph wwhbunwdwubp L d hwwn 15 000,0 2,0 30,0
34331300  |wywnndbphuwubiph wwhbunwdwubp q< hwn 9 000,0 2,0 18,0
34331300  |wyuwnibpbuwubiph wwhbunwdwubp 9L huin 35 000,0 1,0 35,0
34331300  |wyundbpbuwubph wwhbunwdwubp 9L hwn 10 000,0 1,0 10,0
34391100 inpwlinnpubiph wwpwquwubp q< hwin 80 000,0 1,0 80,0
jggimon | manantiuil wpgujnpeniaph ac husn 55 000,0 1,0 55,0
dwubip
artins (AT Ui rpe a< hutn 23 000,0 10 23,0
Uwubp
gany |kl gl i a< huitn 4000,0 4,0 16,0
dwubip
leaiioo  |mnutinuwyuy uwpuinpnudutinh qc hwitn 2500,0 2,0 5,0
dwubip
gaon  [animsubulds gk oo 9< hwtn 2.000,0 6,0 12,0
duubp
ieermioo  |@mnuuntunbuulul uuppuidonniunh ac hun 6 000,0 20 2,0
dwubp
it | oy 9 huitn 14 000,0 2,0 28,0
dwubp
31431100 Yuwwpwpepdught hnunwlhsubn 74 hwn 45 000,0 1,0 45,0
31431100 Yuiuwpwpepywiht Ynunwlhsutm 9L hwn 47 000,0 4,0 188,0
31431100 Yuwwpwpewiht Ynunwyhsubn 9L hwin 60 000,0 1,0 60,0
31431100 YuywpwpRpywht Ynwnwyhsubp < hwin 75 000,0 2,0 150,0
44441200 qunhluunp wnwugpulwiubp Q< hwun 3 500,0 12,0 42,0
42141190 {hutinibph Ygnpnhsubip Q<L hwwn 55 000,0 1,0 55,0
34331300  |wywndbpbwutinh wwhbunwdwubp Q< hwn 7500,0 1,0 70
34331300 wyunnibptuwutinh wwhbunwdwubip q< hwn 10 000,0 1,0 10,0
34331300 wynndbipbuwtbiph wwhbuwnwdwubp Q< hwn 1000,0 2,0 2,0
34331300 wywnibiptuwubph wwhbunwdwutip qg hwiwn 40 000,0 1,0 40,0
34331300  |wywndbpbuwubph wwhbunwdwubp 74 hwtn 6 000,0 2,0 12,0




34331300 wywnndbpbuwubiph wywhbunwdwubip 9L huwn 7 000,0 2,0 14,0
34331300 wywnidbpbuwubph wwhbuwnwdwutp q< hwtn 12 000,0 1,0 12,0
34331300 wywndbpbuwubnh wwhbunwdwubp Q< hwun 1500,0 2,0 3.0
44441200 gunhlwynp wnwugpwlwjutp Q<L hwn 2200,0 3.0 6,6
44441200 qunhlwinp wnwtgpwljw|ubn QL hwwn 5500,0 4,0 22,0
44441200 gunhlwynp wnwugpwlwilbp QL hwwn 4 400,0 2,0 8,8
44441200 gunplwdnp wnwugpwljwubn QL hwwn 3000,0 4,0 12,0
44441200 qunpljwdnp wnwugpwlwibbn T4 hwwn 9000,0 1,0 9,0
44163171 nbtnhb funnnyuiy 1, 172" < dbinp 4000,0 8,0 32,0
44423640 ntiinhubi Uhgwinhputip < hwin 200,0 10,0 2,0
44423640 | nbinputs dhownhpubip a< huwitn 200,0 6,0 1,2
44423640 | nbinputs dhownhpubip 9< huwtn 200,0 4,0 0,8
44423640 nkiinhub dhownhpubp Q< hwn 650,0 4,0 2,6
44521160 onpwubn 9L dbwnn 3500,0 7.0 24,5
gm0 | kbl bud onuiGlighs (bldunnhl) q< hwin 35 000,0 2,0 70,0
Glutiutip
44163180  |wnnuwunt junnnyuwly 9< g 514,3 73,3 37,7
44441200 gunhlwdnp wnwugpwljwiubn 9< hwwn 2200,0 3,0 6,6
44441200 gunplwynp wnwugpwlw(ubp Q< hwn 5500,0 4,0 22,0
44441200 qunhlwynp wnwugpwlwiubip a< hwun 4 400,0 2,0 8,8
44441200 qunhlwynn wnwugpwluwiubp QL hwn 3 000,0 4,0 12,0
44441200 qunhywynp wnwugpwlwutnp Q< hwun 9 000,0 1,0 9,0
44163171 nbinpub funnnduwy 1, 1/2" §< ubinp 4 000,0 8,0 32,0
44423640  |nbinhub dhowinhpubin Q<L hwn 300,0 10,0 3,0
44423640  |ntwnhub dhownhputip Q< hwn 300,0 6,0 1,8
44423640  |nbunhub dhgwnhpubip 9L hwtn 300,0 4,0 1,2
44423640  |nbinhutr dhewnhpubip ac hwin 650,0 4,0 2,6
fuguwu Ybpwgdwy, hulynnnipjut,
42131140 opowwnnt Ywd wifnwgnipjul q< hwwn 65 000,0 1,0 65,0
thwlwuubp
44441200 qunhywynp wnwugpwlwubp < hwwn 9 500,0 2,0 19,0
42921180 lztinpubip q< huwtn 60 000,0 1,0 60,0
44118310 wnnuuwwnb phetin < g 750,0 59,0 44,25
Graiig | PmReton tnjusghtibr b wumiRignn | g huwitn 610 000,0 1,0 610,0
thnfuwtghsubiph wwpplip
g (e dojsbghien LUBIIEN | o huitn 650 000,0 1,0 650,0
thnfuwighsblinh wwipptin
44311110 guitijwuywndwl dEnwnuiwpbip Q< dbiinp 12,0 3125,0 37,5
34351600  |qninwununbuwyw dEpEuwutiph wuhyutp < hwun 60 000,0 4,0 240,0
34331300  |wwndbipbuwitinh wwhbunwdwubp uu hwn 65 000,0 1,0 65,0
6 450.0
| 9mpuntibinbuwlwt nblubhiw b
wjqbignpéwljut wwpuupubp
16311400  |junnhudih dbipbuwbn ac hun 45000,0 1,0 45,0
16311400  |funwnhushs dbpbuwbp 9< hustn 5 000 000,0 1,0 5 000,0
03451600  |&wnbip uu huwn 1500,0 110,0 165,0
03451600  |dwnbp uu hwn 1500,0 20,0 30,0
03451600  |bwnbp uu hwwn 1800,0 400,0 720,0
5 960,0

Pudwlnprugpnipinil




79981100 pwdwunpnwgnuiwu Swnuynuejniiubin a< hwtn 12 500,0 12,0 150,0
79981100  |pwdwunpnugpiwu Swnwjniejniuubip ag hwin 8 800,0 12,0 105,6
79981100 pudwunprugpdwl Swnwynujnitubp QL hwn 14 000,0 4,0 56,0
79981100 pudwunprwgpdwl Swnwynupjnitubip 9L hwn 10 500,0 12,0 126,0
79981100  |pwdwiunpnwgniw dwnwjnigjniiutip < huwtn 5400,0 12,0 64,8
79981100 pwdwunprwgpdwl Swnuwyniyniuubip aq hwtn 8 500,0 8,0 68,0
79981100 puidwlnprugnUwy Swnwjniejniuubn Q<L hwuwn 7 300,0 12,0 87,6
79981100 pwdwtnpwgpdwl dwnwjnuejniuutn Q<L huwtn 7300,0 12,0 87,6
79981100 pwdwunpnugpdwu Swnuwynuniubp 9L hwtn 8 600,0 8,0 68,8
79981100 pwdwtinpriugpdwl Swnwynipyniulbn qc hwuwn 14 000,0 12,0 168,0
79981100 pwdwunprugndwl Swnwjniniubn q< hwwn 20 500,0 12,0 246,0
79981100 pwdwunpnwgpdwl Swnuwynyryniubin L huwn 2 500,0 10,0 25,0
79981100 pwdwnpriwgpdwi dwnuwynie{niuttin QL hww 7500,0 6,0 45,0
79981100 pwdwnpnwgniwl Swnwjnysjnluubn qg hwtn 200,0 676,0 135,2
79981100 pwdwunprwgpiwl Swnuynuejmiiubin q< hwn 100,0 756,0 75,6
79981100 puwdwunprwgpdwl SwinwyniR{niulbin G< hwwn 4000,0 12,0 48,0
ity (PP pudenganul ¥e npwd 8 000,0 8,0 64,0
Swnwjnipjniuubip
1621,2
ushusuueLer
Jhupinh, ohuntpjniutitinh purewghly
45461100 unpnquil woluwinwpbn QL npwd 6 000 000,0 1,0 6 000,0
Jhuptinh, ghunipjnitiubinh pupwghy
45461100 unpnquuil wyfutnuilpliay Q<L npwd 2 000 000,0 1,0 2 000,0
ZGuptinh, 2hunigjniubiph ppwghl
45461100 unpngUw wpfuwnutiptp Q< npwyd 2 000 000,0 1,0 2000,0
gbuptinh, shunipjnitiuinh pewghl
45461100 unpnqutil wofuwnwtiplbp 9L npwd 2 000 000,0 1,0 2000,0
stiuptinh, 2hunuygjniuinh puewghl
4 7 0 1,0 57 000,0
45461100 |unpnguus wpfuwunuwtigliip = Apwd | 57000 000,0 s
69 000,0
vunusnhE3NhLLLr
thwuwnwpenrapp Yunwywpdwt
48311100 uu wd 1200 000,0 1,0 1200,0
huwljungsuh Spwanuiht thupbRUn L
79211150 wnwyhnpwyuwl Swnwjnujniutibip QL npwd 3000 000,0 1,0 3000,0
79111200 ubplwjwgnigswljuu Swnwjnueniuubip uu npwd 5000 000,0 1,0 5000,0
79341100 gnywgnwyht dwnwjnupjniutitin Q< npud 3 000 000,0 1,0 3000,0
50521140 thnnAwptiinueiwl Swnwinue|niuubin uu rpwid 500 000,0 1,0 500,0
45231147 ynjnuwgnbiph dwppdwl wipuwnwuputin uu nnwd 990 000,0 1,0 990,0
oafizio  |dmuibh b iy funphpruintuluit | 4,0 apwd | 58920000 1,0 5 892,0
Swinwjnuzniubip
79811100 pUwiht tnywgpniejwu Swnwjnupniuubn 9L npwd 350 000,0 1,0 350,0
agifi  |PRdsnRE s uu npwd 840 000,0 1,0 840,0
Swnwjnp|niuutip
spspay  |MaApupgA Rk izttt T nnwd 990 000,0 1,0 990,0

ybpwunpnquw Swnwjnipiniuubn




obupbipnud inbnwijuywsd BEYnpwljwu

990,0

50711100 uwppbiph YEpwunpngiwt U wwhwwudwl uu npwd 990 000,0 1,0
SwnwjninLutbp
dbpbuwb u
gaiipe  |Mdmlpblintibnh huubdu uu npwd 100 000,0 1,0 100,0
Swnwjnieniubp
73432100 Unipwljw wpdtputiph quwhwwnnid uu npwd 990 000,0 1,0 990,0
65211100 qugh pwyfunid uu npwd 36 300 000,0 1,0 36 300,0
dwi b hti &
g5100000 |2 Putudul L nnuw httn Guiydw uu npwd | 16185 000,0 1,0 16 185,0
Sunuynunittin
65311100 bibyuinpwlwunipjwi pwziunu uu npwd 62 350 000,0 1,0 62 350,0
b U h d
gostiao | UEugwnuubl wnph hudwpiul uu npwd | 1000 000,0 1,0 1000,0
Swinwinuginiutibip
66111200 pwlwjht dwnwnueniuubn uu npwd 300 000,0 1,0 300,0
3241130 hwiwguwug < npwd 700 050,0 1,0 700,05
50531140 thnpawpulniejwl dwnwjnizjniiubn uu npwd 7 000,0 5,0 35,0
h
66511430 |Iwamiahs wwwhnduigniul uu npuwd 670 000,0 1,0 670,0
Swnwynipniulip
ghunwlwt hvnwgnnniggniiubiph b
73311100 thnpawpwpwlwt Jpwldwy wwuwynpnud b aL npwd 1100 400,0 1,0 11004
hpwgnpdnul
gesitaze  [PWemahs wuwhnugniiul uu npwd 247 100,0 1,0 2471
Swnwjnip{niuukip
ghunwlwu htinwgnuinygniuubipp L
73311100 thnpéwpuwpwlwt dawldw wiwbwynpnud b q< nppwd 1150 000,0 1,0 1150,0
hpwgnpénid
b h
sommag: | pukingne U aikANUN uu nnwd 440 000,0 1,0 440,0
Sdwnuwynipjniubin
nasise0 | EMublwul hunnnpyl uu nnwd 185 000,0 1,0 185,0
Sdwnuwinipiniuubp
70631200 | WHuwnwilibguibinh bpunyuinpuiinduly q< npwd 13 000,0 8,0 104,0
Swnuwinipjniuubp
64121200 thnuwnp wnwpdwl dwnwjnipjniuutin uu npwd 30 600,0 1,0 30,6
h
Hastsap | olublwlul hunnniegul uu nnud 306 000,0 1,0 306,0
Swnwinuyayniuubp
63521200 phinubiph thnjuwnpiwl Swnwjnigjnlittin 9L npwd 1430 000,0 1,0 1430,0
63521200 ptinubiph thnfuwnpdw Swnwjnieniutbp Q< npuwd 1340 000,0 1,0 1340,0
ohtwpwpwlw bwiwgddwt hbwn Guuwsd
uu ] 100 000,0 1,0 100,0
ot funphprwindulwt Swnwnipjniiibn T
wuywnnnbnh Jepwinpngdwt
50111300 Swnwjnuejniuutn, ubpwnyw]’ Ununwdnd b uu npwd 100 000,0 1,0 100,0
hwlwuwpulgnnu
64121200 thnuwnh wnwpdwl dwnwjnipiniiltin uu npwd 99 000,0 1,0 99,0
148 0142
LLHUUEBLE 349 643,03




